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Ocm0O00). OO0 A4(21.0[em]x29.7cm])000. OOOO0OO0OOOOOOOOOOOOOOO,000000
00 (000000 (1,14)000. 0000 (DO0O0OO0)OOOO (0,0-(1,1)) 0000000000 (0.2,0.2)- (0.8,
08)000000.000000000000000000000 viewportD xyworldOOOO. 000000
0000000,00000001(000000)0000. 00000000000 linetyO linewidthOO
ogd.

0000 d: call init

viewport : 0000000000000 0000O0O0O0O0O0O0O0OO0O0O0OO.
O0000: call viewport(xl,yl,x2,y2)
(x1,y1):0 0000000000 (x2,y2):00000000000.

xyworld : 00000000 OOOOOOOODOODOO.
00000: call xyworld(xl,y1,x2,y2)
(xl,y1:0OODOOOOO, (x2y2):000 Ad0D000 (x1,y)OODOOOOOOO OO 21.0[em]D00000O0
ooo.

fin : 000000000 0O00OOO0OOOOO0O.
O0000: call fin

linety : 00 O0Q0O0OC0O0OOO.
00000 : call linety(it)
it(00): 0000. it=1:00,
it=2:00, it=3:00,
it=4:0000

linewidth : OO 0O0O0OOOO.
OO000d0O: call linewidth(w)
w(O0O): 00O0O0. w=1.0:00,
w=2.0:00,w=5.0:00.

setgray : 0 0O Qoooooag.
O0O0O00: call setgray(g)
g(D0):00000. g=1.0:0, g=0.0:0

setrgb : 00 000 O0O0O0OOO.
00 000O0: call setrgb(r,g,b)
r,g,b(00): O00O0OO. r=1.0:0, g=1.0:0, b=1.0:0

newpath : 0000 O0O0O00OOODO.
OO0 000: call newpath

closepath : OO0O0OO0O0OO0O0O0OOOO0OODO.
U000 0: call closepath

stroke : OO0 OO O0OO0OOOOO.
0000 0O: call stroke
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rotate : D00 OO0OO0OO0ODOO.
0000 0O: call rotate(itheta)
itheta=0-360(00):0000000000O.

scale : O OO0OO0OODO.
O00000: call scale(tx,ty)
tx=a:xx OO0 aO0,ty=b:y000 bOOOO,0000.

translate : 0000000,
O00000: call translate(x,y)
x=axx U 00O alem] 00, y=b:yO OO blem]000O.

clipon : 0 (x1, y1)OUODODODO,0 (x2, y2)OO0O0OOOODODOODOODODOOODOOOODOOO.
O00000: call clipon(xl,yl,x2,y2)
(x1, yD(OO,00 [em]): DOOOOOOOOOO.
(x2, y2)(OO,00 [em]): DOOOOOOOOOO.

eoclipon : 0 (x1, y1)OOOODO,0 (x2, y2)OOOOOODOODODOOODOODODOOODOOOOOOO.
OO0OO00D0O: call clipon(xl,yl,x2,y2)
(x1, yD(OO,00 [em]): DOOOOOOOOOO.
(x2, y2)(ODU,00 [em]): OOOODDO0OODODOO.

clipoff : OO0 QOOO.
OOd0d0O: call clipoff

plot : 000000 (x,y) D0OO0O0O0O00OO0O0OO0OO.
OO0O000: call plot(x,y,ipen)
(x, y)(OO,00 [em]): 0O0O00O.
ipen(00): 00OD0O0OO. ipen=2:00 00 (D0000O0), ipen=3:000000 (0DOOOODO).

line : 00O (x1, yDO (x2,y2)000000.
O0O000: call line(xl,y1,x2,y2,g,w,it)
(x1, y1)(OO, 00 [em]): OOODOO.
(x2, y2)(OU, 00 [em]): OOODOO.
g00): 00000, g=1.0:0, g=0.0:0
w(D): 0000. w=1.0:00,w=2.0:00, w=5.0:00
it(00): 00000 . it=1:00, it=2:00, it=3:00, it=4:0000.

linel : 00 (x1, yDHO (x2,y2)000000O.
OO0O0O00: call linel(x1,y1,x2,y2)
(x1, y1)(OO, 00 [em]): OOODOO.
(x2, y2)(OU, 00 [em]): OOODOO.

rect : 0 (x1, y)OOOODO,D0 (x2, y2)OOOOOOOOOOOOOO.
O0000O0: call rect(xl,yl,x2,y2,g,w,it)
(x1, yDD(OD,00 [em]): OOOODDO0OODODOO.
(x2, y2)(OO,00 [em]): DOOOOOOOOOO.
g(0DO): 00000. g=1.0:0,g=0.0.0. 000,g=0.00000000000D00O0O0OOOOOODODOUOO
0.
w(0O): 00OO0O0. w=1.0:00,w=2.0:00, w=5.0:00
it(00): 00000. it=1:00, it=2:00, it=3:00, it=4:0000.
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rectl : 0 (x1, y))OOODOO,0 (x2, y2)OOOOOODOOOODOOO.
O00000: call rectl(xl,y1,x2,y2)
(x1, yDD(OD,00 [em]): OOOODDO0OODODOO.
(x2, y2)(OO,00 [em]): DOOOOOOOOOO.

rectfilll : 0 (x1, y))OOOODO,0 (x2, y2)OO0O0O0O0D0O00O0O0OO0OO0O0O0OOOO.
O00000: call rectfilll(xl,yl,x2,y2)
(x1, y)(OO,00 [em]): DOOOOOOOOOO.
(x2, y2)(ODU,00 [em]): OOOODDO0OODODOO.

circ: 0 (x1, yOOO,00 100000,
oo0OdO00: call circ(xl,yl,rl,g,w,it)
(x1, y1)(0D,00 [em]): DOO0O0O0O0.
r1(00,00 [em]): 0000,
g(0DO): 00000. g=1.0:0,g=0.0.0. 000,g=0.00000000000D00O0O0OOOOOODODOUOO
a.
w(0O): 00OO0O0. w=1.0:00,w=2.0:00, w=5.0:00
it(00): 00000, it=:00, it=2200, it=3:00, it=4000C

circl : 0 (x1, yDOOO,00x10000O.
O0O000: call circi(xl,yl,rl)
(x1, y1D(OD,00 [em]): OODOOOOO.
r1(00,00 [em]): OOOO.

circfilll : 0 (x1, yDOOO,00 r1000000CO0O0O.
O0000: call circfilli(xl,yl,rl)
(x1, y1)(OO,00 [em]): DOOOOODO.
r1(00,00 [em]): OOOO.

ellipse : (x1, yHOOOOOOxOOOOO rxOyO0OO0OOO0 xy0OQOOODOO.
O0O0O00: call ellipse(xl,yl,rx,ry,g,w,it)
(x1, y1): 00000, rx: xO0OD00OD0ry: yOOOOO .
g(00):00000. g=1.0:0, g=0.0:0.
w: Jgggg.
it(00): 00000. it=1:00, it=2:00, it=3:00, it=4:0000.

ellipsel : (x1, yDOOOOOOxOOODO rxOyO0ODOOO0 xry0OQOOODOO.
O00000: call ellipsel(xl,yl,rx,ry)
(x1, y1): 00000, rx: xO0OD00OD0ry: yOOOOO .

ellipsefilll : (x1, y1))OOOOOOxO0O0000O rxO0y00000 ryOOOOODODOODOO.
O00000: call ellipsel(xl,yl,rx,ry)
(x1, y1): 00000, rx: xO0OD00OD0ry: yOOOOO .

arc : 0 (x1, yHOOO,00 r100000 +100 t20000.
O0000O0: call arc(xl,yl,r1,t1,t2,g,w,it)
(x1, y1)(OO,00 [em]): DOOOOODO.

r1(00,00 [em]): DOO0O.
t1(00,00 [°)): 000D000.
t2(00,00 [°)): 000D000.

g(0DO0): 00000. g=1.0:0,g=0.0:0.000,g=0.000000000000000.
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w(0D): 000O0. w=1.0:00,w=2.0:00, w=5.0:00
it(00): 00000 . it=1:00, it=2:00, it=3:00, it=4:0000.

arcl : 0 (x1, yOOOO,00 r100000 t100 t20000.
O0O000: call circ(xl,yl,rl,t1,t2)
(x1, y1D(OD,00 [em]): OODOOOOO.
r1(00,00 [em]): OOOO.
t1(00,00([°): 000000.
t2(00,00 [°): 0D0000DO.

1
1

curv : 00 (x1, y1)OOODO (x4, y&)OOOOO (Bézier) OO O0D. 000OO0OODO (x1, y)OOOO,000
0 2, y2)00000000,000000,0 (x3, y3)yUOOOOOOOOOOO.
00000O0: call curv(xl,yl,x2,y2,x3,y3,x4,y4,g,w,it)
(x1, y1)(OU, 00 [em]): OOODOO.
(x2, y2)(OO,00 [em]): 0OO00OOOOOOOOOOOOO.
(x3, y3)(OO,00 [em]): 0OOO0OOOOOOOOOOOOO.
(x4, y4)(OU, 00 [em]): OOODOO.
g(00): 00000. g=1.0:0, g=0.0:0. 000, g=0.000000000000000.
w(0D): 000O0. w=1.0:00,w=2.0:00, w=5.0:00
it(00): 00000. it=1:00, it=2:00, it=3:00, it=4:0000.

curvl : 00 (x1, yDODODOO (x4, y&) OO OO0 (Bézier) DOOOD. 0000000 (x1, y)OOOO,00
OO0 (x2, y2)OOOOODODOO,0D00000,0 x3, y3)OOOoooooooDOO.
Oo0O000: call curvl(xl,yl,x2,y2,x3,y3,x4,y4)
(x1, y1)(OO, 00 [em]): OOODOO.
(x2, y2)(OU,00 [em]): OOO0O0O0OOOOOOOOODOO.
(x3, y3)(OO,00 [em]): 0OO0OOOOOOOOOOOOO.
(x4, y&)(OO,00 [em]): DOODOO.

triangl : 0 (x1, y))ODODOOOODOODOO ri000O0ODDOO.
OO0O000: call triangl(xl,yl,rl,al,g,w,it)
(x1, y1)(OO,00 [em]): DOOOOOOOOOOO.
r1(00,00 [em]): O0D00ODOOOOOO.
al(00,00 [°]):z20000000DO.
g(0DO0O): 00000. g=1.0:0,g=0.0:0,000,g=0.000000000000000OO0OOOOODODUDOO
.
w: JOQdgd.
it(00): 00000. it=1:00, it=2:00, it=3:00, it=4:0000.

triangll : 0 (x1, y))OOOOODODOOOO r10000OCOOO.
O0000O: call triangl(xl,yl,rl,al)
(x1, y1)(OO,00 [em]): DOOOOOOOOOOO.
r1(00,00 [em]): OO00OO0ODOODOOO.
al(0 0,00 [°):200000000.

trianglfilll : 0 (x1, y))OOOOOOOODOOO r1000000O00O0DOOOODO.
OO0O000: call trianglfilli(xl,yl,rl,al)
(x1, y1D(OD,00 [em]): OOO0OO0OOODOOOOO.
r1(00,00 [em]): O0D00ODOOOOOO.
al(00,00 [°]):z20000000DO.
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spline : (x1, y1) OO (xy, yo) 00000000 OOOOODOO.
O0000DO: call spline(x1,y1,x2,y2,x3,y3,x4,y4,ipart,g,w)
ipart 0 OO0 O0OOO0O
(x1, y1)-(x4, y4):ipart=-1,
(x2, y2)-(x5, yb):ipart=-1,
(x2, y2)-(x5, yb):ipart=0,

(Xn—4, Yn—a)-(Xn—1, Yn_1):ipart= 0,

(Xa—3, Vn—3)-(Xa, ya):ipart= 0,

(%n—3, Yn—3)-(Xn, yn):ipart= 1,

g00): 00000. g=1.0:0,g=0.0:0,000,¢=0.00000000000000000000000000
0.

w: Jooo.

splinel : (x1, y1) OO (x, yo)00OOOO0OOOOOOOOOO.
OO0O000: call splinel(xl,y1,x2,y2,x3,y3,x4,y4,ipart)
ipart 0000 O0ODOODO
(x1, y1)-(x4, y4):ipart=-1,
(x2, y2)-(x5, yb):ipart=-1,
(x2, y2)-(x5, yb):ipart=0,

(Xn—4v Yn—4)'(Xn—1, yn_i):ipart: 0,
(Xn—3, Yn—3)-(Xn, yu):ipart= 0,
(%n—3, Yn—3)-(Xn, yn)ipart= 1,

parabola : (x1,y1),(x2,y2),(x3,y3) 00 0000000.
OO0000: call parabola(xl,yl,x2,y2,x3,y3,g,w)
(x1, y1),(x2, y2),(x3, y3):000000.¢g(00): 00000. g=1.0:0, g=0.0:0.
w: JOQdgd.

parabolal : (x1,y1),(x2,y2),(x3,y3)000000000.
00 000: call parabolal(xl,yl,x2,y2,x3,y3)
(x1, y1),(x2, y2),(x3, y3):000000.

arrow : (x1,y1)00 (x2,y2)00000,(x2,y2) 0000000,
O00d00: call arrow(xl,yl,x2,y2,d,g,w)
(x1, y1)(OO, 00 [em]): OOODOO.
(x2, y2)(OO,00 [em]): DOOOO.
d(00): 000000.g(@O): 0000UO. g=1.0:0,g=0.0:0.
w: JOQdgd.

arrowl : (x1,yl)00O (x2,y2)00000,(x2,y2)0000000.
OO0O000: call arrowl(xl,yl,x2,y2,d)
(x1, y1)(OO,00 [em]): 0DOOO.
(x2, y2)(OU, 00 [em]): OOODOO.
400): 000000,

resist : (x1,y1)00 (x2,y2)0 0000000000,
O00000: call resist(xl,y1,x2,y2,d,w)
(x1, y1)(OO, 00 [em]): OOODOO.
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(x2, y2)(0O,00 [em)): 00000,
d00): 00000000000, w0000,

battery : (x1,y1) 00 (x2,y2)000000000+0,-000000.
O0000: call battery(xl,yl,x2,y2,d,w)
(x1, y1)(OO,00 [em]): 00OOO.
(x2, y2)(OU, 00 [em]): OOODOO.
400): 000000.w 0000.

coil : (x1,y1)O0O (x2,y2)00000000O0OOOO.
go0O000: call coil(xl,yl,x2,y2,d,n,w)
(x1, y1)(OO, 00 [em]): OOODOO.
(x2, y2)(OU, 00 [em]): OOODOO.
d(00): 0 000000.n(00): DD0D00OD0OOO.
w: 0gggodg.

text : D000 O0OOOOCODOOOOODO.
O0000D0: call text(xl,yl,n,’string’)
(x1, y1D(OD,00 [em]): OO0OOODO0OODOOOOO.
n(00): 000.
string(800000000): D0OD0OO.

textx : U000 0O00O0OO0OO0ODODO0OO0O. OO0 xO0O00O00O000O0OO0OO0OO.
0000 0DO: call textx(xl,yl,n,’string’)
(x1, y)(OO,00 [em]): 0000000 (x1, y1)OOOOGOOOO.
n(00): 000.
string(130000000): 00000O0DO.

texty : 0000000000 OoobbO. 00 yobhobbooboooboo.
OO0O000: call texty(xl,yl,n,’string’)
(x1, yD(OO,00 [em]): . 0000000 (x1, y1)OOOOOOODO.
n(00): 000.
string(130000000): 00000O0DO.

setchar : 000000000 0OOOODOO.
OO0 0O00O: call setchar(itype,ipoint)
itype(0D0): 0OOODOO.
itype=1: Times-Roman, itype=2: Times-Bold, itype=3: Times-Italic, itype=4: Times-BoldlItalic,
itype=5: Helvetica, itype=6: Helvetica-Bold, itype=7: Helvetica-Oblique, itype=8: Helvetica-BoldOblique,
itype=9: Courier, itype=10: Courier-Bold, itype=11: Courier-Oblique, itype=12: Courier-BoldOblique,
itype=13: Symbol
ipoint(00, 00 [D OO0 ,pt]): DO0ODOOO (1pt ~ 0.3515mm).

6.6 FortranOUOOOOO

ooO0oOO0O0Oss00000000DO 000000000000 oo ooooooooo0ooODOoomm ooOoo OO
00000oDO0o0oDoDOo0ognO sss000Mm

00000 -2 (sampo s.for)0 000000000000 '1'00000000000O0O0O O1ine0000O 1linelO
000000000000000O0o (sampo for)DDOOOOOOOOOOUOOOOOOOOOOOOOOOOOO
gooboobooooooboobooboooboooobobooboboobobbobboboobooogobo
00000000000 0000Oo (sampo for)DOO0OODOOOOOOODOO
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oo
goooobboooooooooobooboooboooobooo 3goooboboooobooooooboOo1vooDo

0000Q0 1(sampl.for)

1:C Plotting program for general purpose using postscript
2: call init

3: call viewport(0.2,0.2,0.8,0.8)
4: call xyworld(0.0,0.0,1.0,1.0)
5: call linety(1)

6: call plot(0.1, 0.1, 3)

7: call plot(0.8, 0.1, 2)

8: call stroke

9: call linety(2)

10: call plot(0.1, 0.2, 3)

11: call plot(0.8, 0.2, 2)

12: call stroke

13: call linety(3)

14: call plot(0.1, 0.3, 3)

15: call plot(0.8, 0.8, 2)

16: call stroke

17: call fin

18: stop

19: end

019:0000000.

obod2-4000000000000D000O0O0OO00O0DOOOOO2000000000000O0DO00DOODO
ocoob3040000000000000000DDODDOOS-80000 190000000 ODDOY9-120000
1900o0ooooboooobobowy-160000 1I9000000DODOOODOOOO0ODObOOOO

googn
oobooboooboooooboooobooooobooboogooosubboboooobboboebDD 7TOOODDOO
000oo0oooooooo (O 20)0

0000 2(samp?2.for)

1:C Plotting program for general purpose using postscript
2: call init
3 call viewport(0.2,0.2,0.8,0.8)

24



call xyworld(0.0,0.0,1.0,1.0)

call linewidth(2.0)

call circ(0.3, 0.3, 0.2, 0.0, 2.0, 1)

call rect(0.6, 0.1, 0.8, 0.5, 0.0, 1.0, 1)

call fin

© 00 N O O P

stop
10: end

020:00000.

0000 2-2(samp2s.for)

:C Plotting program for general purpose using postscript
call init

call viewport(0.2,0.2,0.8,0.8)

call xyworld(0.0,0.0,1.0,1.0)

call linewidth(2.0)

call circ1(0.3, 0.3, 0.2)

call linewidth(1.0)

call rect1(0.6, 0.1, 0.8, 0.5)

call fin

©O© 0 N O O b W N =

=
o

stop

[y
[y

end

oopogood

gooooboooooo0ooooooooooooooooo 3040000000000 DDOODODOOOOO
OoOoOD0O00000 Timess-RomanOOODOOOOO 10pt000000000005—-7000000000 triangl
0000000o0o0ooooooooo (o200

0000 3(samp3.for)

program main

call init

call setchar(1l, 10)

call text(0.1,0.1,19,’Doshisha University’)
call triangl(0.0,0.0,0.15,60.0,0.8,1,1)
call triangl(0.0,0.0,0.15,180.0,0.8,1,1)
call triangl(0.0,0.0,0.15,300.0,0.8,1,1)

call fin

©O© 0 N O O b W N =

stop

=
o

end
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Doshisha University

02:000000.

0000 3-2(samp3s.for)

program main

call init

call setchar(1l, 10)

call text(0.1,0.1,19,’Doshisha University’)
call setgray(0.8)

call trianglfil11(0.0,0.0,0.15,60.0)

call trianglfill1(0.0,0.0,0.15,180.0)

call trianglfill1(0.0,0.0,0.15,300.0)

call fin

©O© 0 N O O b W N =

—-
o

stop

[y
[y

end

0oooo
000000000O0x00y0O0O0O00O0000000005000x00600y00000700000000
0000 (0 22)0

0000 4(samp4.for)

program main

call init

call viewport(0.1, 0.1, 0.5, 0.5)

call xyworld(-1.0, -0.2, 1.0, 1.8)

call arrow(-1.0, 0.0, 1.0, 0.0, 0.05, 0.0, 1.5)

call arrow(0.0, -0.2, 0.0, 1.8, 0.05, 0.0, 1.5)

call parabola(-0.8, 1.5, 0.0, 0.0, 0.8, 1.5, 0.0, 2.0)
call setchar(1l, 20)

call text(0.95,-0.2, 1,’x?)

call text(-0.2, 1.75, 1,’y’)

call fin

©O© 0 N O O b W N =

= e
N = O

stop

—-
w

end

0000 4-2(samp4s.for)

program main
call init
call viewport(0.1, 0.1, 0.5, 0.5)
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022:00000.

4: call xyworld(-1.0, -0.2, 1.0, 1.8)

5: call arrow(-1.0, 0.0, 1.0, 0.0, 0.05, 0.0, 1.5)

6: call arrow(0.0, -0.2, 0.0, 1.8, 0.05, 0.0, 1.5)

T: call linewidth(2.0)

8: call parabolal(-0.8, 1.5, 0.0, 0.0, 0.8, 1.5)

9: call setchar(1l, 20)

10: call text(0.95,-0.2, 1,’x?)

11: call text(-0.2, 1.75, 1,’y’)

12: call fin

13: stop

14: end

ood

od0Dd0ooU0o0oooooooooooooooooooooa

dz dy
EE—::l, pn = 3xy

0000000000 (O 23)0

0000 5(samp5.for)

1:C Plotting program for general purpose using postscript

2: call init

3: call viewport(0.2,0.2,0.8,0.8)

4: call xyworld(-0.2,-0.2,1.2,1.2)

5: call line(0.5, 0.0, 0.5, 0.02, 0.0, 2.0, 1)

6: call line(1.0, 0.0, 1.0, 0.02, 0.0, 2.0, 1)

7: call 1ine(0.0, 0.5, 0.02, 0.5, 0.0, 2.0, 1)

8: call line(0.0, 1.0, 0.02, 1.0, 0.0, 2.0, 1)

9: call arrow(-0.1, 0.0, 1.2, 0.0, 0.02, 0.0, 2.0)
10: call arrow(0.0, -0.1, 0.0, 1.2, 0.02, 0.0, 2.0)
11: call textx(1.2,-0.02,1,’x’)

12: call textx(0.5,-0.02,3,°0.57)
13: call textx(1.0,-0.02,3,°1.07)
14: call texty(-0.02,1.2,1,’y’)
15: call texty(0.0,0.5,3,’0.57)
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16: call texty(0.0,1.0,3,71.07)
17: call textx(-0.06,-0.02,1,°0’)
18: call plotdl
19: call fin
20: stop
21: end
22:
23: subroutine plotdl
24: common /ndata/n,nx,ny,ns
25: common /xydata/x(100),y(100)
26: write(1l,*) ’ 1.0 setlinewidth’
27: write(1,*) ’ 0.6 setgray’
28: call linety(1)
29: m=10
30: do 50 ix=0,m
31: do 50 iy=0,m
32: x0=0.0+1.0*float (ix)/float (m)
33: y0=0.0+1.0*float (iy)/float (m)
34: dt=0.05
35: dx=1.0
36: dy=3.0%x0%y0
37: ds=sqrt (dx**2+dy**2)
38: if(ds.ne.0.0) then
39: x1=x0+dx/ds*0.05
40: y1=yO+dy/ds*0.05
41: call arrow(x0,y0,x1,y1,0.01,0.6,1.0)
42: end if
43: 50 continue
44 return
45: end
y
10
05
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0000 5-2(sampbs.for)
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35:
36:
37:
38:
39:
40:
41:
42:
43:
44:
45:
46:
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Plotting program for general purpose using postscript

call
call
call
call
call
call
call
call
call
call
call
call
call
call
call
call
call
call
call
stop

end

subro
commo
commo
write
write
call
call
m=10
do 50
do 50
x0=0
y0=0

dt=0.
dx=1.

dy=3
ds=s
if(d
x1=x
yl=y
call
end
50 conti

write

init

viewport(0.2,0.2,0.8,0.8)
xyworld(-0.2,-0.2,1.2,1.2)
linewidth(2.0)

line1(0.5, 0.0, 0.5, 0.02)
line1(1.0, 0.0, 1.0, 0.02)
1line1(0.0, 0.5, 0.02, 0.5)
line1(0.0, 1.0, 0.02, 1.0)
arrowl(-0.1, 0.0, 1.2, 0.0, 0.02)
arrow1(0.0, -0.1, 0.0, 1.2, 0.02)
textx(1.2,-0.02,1,°x?)
textx(0.5,-0.02,3,’0.57)
textx(1.0,-0.02,3,’1.07)
texty(-0.02,1.2,1,%y’)

texty(0.0,0.5,3,70.5%)
texty(0.0,1.0,3,71.07%)
textx(-0.06,-0.02,1,°07)
plotdl

fin

utine plotdl

n /ndata/n,nx,ny,ns

n /xydata/x(100),y(100)
(1,%) > 1.0 setlinewidth’
(1,%¥) ’ 0.6 setgray’
linety(1)

linewidth(1.0)

ix=0,m

iy=0,m
.0+1.0xfloat (ix) /float (m)
.0+1.0*float (iy)/float (m)
05

0

.0%x0*y0

qrt (dx**2+dy**2)
s.ne.0.0) then
0+dx/ds*0.05
0+dy/ds*0.05
arrowl(x0,y0,x1,y1,0.01)
if

nue

(1,%) ’ stroke ’
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47: write(l,*) ’ newpath’

48: write(1,*) ’ 0.4 setgray’

49: write(1l,*) ’ 1.2 setlinewidth’
50: call linety(1)

51: n=40

52: m=1

53: do 10 ix=0,0

54: do 10 1iy=0,0

b5: x(0)=0.0

56: y(0)=0.1

B7: dt=0.0128

58: call plot(x(0),y(0),3)

59: do 20 it=1,2*n

60: x(it)= x(it-1)+(1.0)*(dt)
61: y(it)= y(it-1)+(3.0*xx(it-1)*y(it-1))*(dt)
62: call plot(x(it),y(it),2)

63: 20 continue

64: 10 continue

65: return

66: end

ooo
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0000 6(samp6.for)

1:C Plotting program for general purpose using postscript
2: call init

3: call viewport(0.2,0.2,0.8,0.8)

4: call xyworld(0.0,0.0,1.0,1.0)

5: call linewidth(2.0)

6: call line(0.0, 0.0, 0.1, 0.0, 0.0, 2.0, 1)
7: call coil(0.1, 0.0, 0.3, 0.0, 0.03, 6, 2.0)
8: call 1ine(0.3, 0.0, 0.4, 0.0, 0.0, 2.0, 1)
9: call line(0.4, 0.0, 0.4, 0.3, 0.0, 2.0, 1)
10: call 1line(0.4, 0.3, 0.3, 0.3, 0.0, 2.0, 1)
11: call resist(0.3, 0.3, 0.1, 0.3, 2.0, 2.0)
12: call line(0.1, 0.3, 0.0, 0.3, 0.0, 2.0, 1)
13: call line(0.0, 0.3, 0.0, 0.2, 0.0, 2.0, 1)
14: call battery(0.0, 0.2, 0.0, 0.1, 0.1, 2.0)
15: call 1line(0.0, 0.1, 0.0, 0.0, 0.0, 2.0, 1)
16: call fin

17: stop

18: end

obooooooooobobobob 240b000b0obooobooorooocobobonnoobooobobo0on0 14Ooo
OO00o00o0oo0O00ODO0O00O0o lined00ooOOooOoOoOOODOOOOO
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024:000.

1:C Plotting program for general purpose using postscript

2: call init

3: call viewport(0.2,0.2,0.8,0.8)

4: call xyworld(0.0,0.0,1.0,1.0)

5: call linewidth(2.0)

6: call linel1(0.0, 0.0, 0.1, 0.0)

7: call coil(0.1, 0.0, 0.3, 0.0, 0.03, 6, 2.0)

8: call linel1(0.3, 0.0, 0.4, 0.0)

9: call linel1(0.4, 0.0, 0.4, 0.3)

10: call 1line1(0.4, 0.3, 0.3, 0.3)

11: call resist(0.3, 0.3, 0.1, 0.3, 2.0, 2.0)

12: call linel(0.1, 0.3, 0.0, 0.3)

13: call linel1(0.0, 0.3, 0.0, 0.2)

14: call battery(0.0, 0.2, 0.0, 0.1, 0.1, 2.0)

15: call line1(0.0, 0.1, 0.0, 0.0)

16: call fin

17: stop

18: end

godn

00000000 y=sinzO0OO0ODODODOOODOOOO

0000 7(samp7.for)

1: program main

2: call init

3: call viewport(0.2, 0.2, 0.8, 0.8)

4: call xyworld(-1.2, -1.2, 1.2, 1.2)

5: call frame

6: call drawline

7: call fin

8: stop

9: end

10:c

11 subroutine frame()

12: call arrow( -1.1, 0.0, 1.1, 0.0, 0.02, 0.0, 1.0)

13: call arrow( 0.0, -1.1, 0.0, 1.1, 0.02, 0.0, 1.0)
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14: call text(1.0,-0.1,1,°x’)

15: call text(-0.1,1.0,1,’y?)

16: call text(-0.1,-0.1,1,°0")

17: n=10

18: do 10 i=1, n

19: x=0.1*1i

20: if(i/5%5.eq.i) then

21: dy=0.02

22: else

23: dy=0.01

24: end if

25: call line( -x, -dy, -x, dy, 0.0, 1.0, 1)
26: call line( x, -dy, x, dy, 0.0, 1.0, 1)
27 10 continue

28: do 20 i=1, n

29: y=0.1%1i

30: if (i/5*5.eq.1) then

31: dx=0.02

32: else

33: dx=0.01

34: end if

35: call line( -dx, -y, dx, -y, 0.0, 1.0, 1)
36: call line( -dx, y, dx, y, 0.0, 1.0, 1)
37: 20 continue

38: return

39: end

40: subroutine drawline

41: parameter (nx= 100)

42: x=-1.0

43: y=0.0

44 call linewidth(1.5)

45: call plot( x, y, 3)

46: do 10 i = -nx+1,nx

47: t = float(i)/float(nx)

48: x =t

49: y = sin(t*3.14159)

50: call plot( x, y, 2)

b1: 10 continue

52: return

53: end

000000 frame000000CCOD0ODOOCDOOO0OODDOOODOODOOOODOOODOOOODOOO drawlined OO
gooOoooDboOoOo00ob49000Db0OD000b00Ob0Oo0oDOoO 20000

0000 7-2(samp7s.for)

1: program main

2: call init
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10:

12:
13:
14:
15:
16:
17:
18:
19:
20:
21:
22:
23:
24:
25:
26:
27:
28:
29:
30:
31:
32:
33:
34:
35:
36:

© 0 N O O > W

10

O 2:0000.

call viewport(0.2, 0.2, 0.8, 0.8)
call xyworld(-1.2, -1.2, 1.2, 1.2)

call frame

call drawline

call fin
stop

end

subroutine frame()
call arrowi( -1.1, 0.0, 1.1, 0.0, 0.02)
call arrowi( 0.0, -1.1, 0.0, 1.1, 0.02)
call text(1.0,-0.1,1,°x’)
1,1.0,1,%y")

call text(-0.
call text(-0.
n=10
do 10 i=1, n
x=0.1%i
if (i/5%5.eq.
dy=0.02
else
dy=0.01
end if
call linei(
call linei(
continue
do 20 i=1, n
y=0.1%i
if(i/5*5.eq.
dx=0.02
else
dx=0.01
end if
call linei(
call linei(

1,-0.1,1,

i) then

-x, -dy,

X, _dy,

i) then

-dx, -y,

dx, vy,

707)

-x, dy)
x, dy)

dx, -y)
dx, y)
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37: 20 continue

38: return

39: end

40: subroutine drawline
41: parameter (nx= 100)

42: x=-1.0

43: y=0.0

44 call linewidth(1.5)
45: call plot( x, y, 3)
46: do 10 i = -nx+1,nx

47: t = float(i)/float(nx)
48: X =t

49: y = sin(t*3.14159)
50: call plot( x, y, 2)
b1: 10 continue

52: return

53: end

goooo 1

OO0O000000 y=exp—zsindrz 0000000 O0O000O0OCO

000 0O 8(samp8.for)

1: C Plotting program for general purpose using postscript
2: call init

3: call viewport(0.2,0.2,0.8,0.6)
4: call xyworld(0.0,-1.0,1.0,1.0)
5: call frame

6: call plotd

7: call fin

8: stop

9: end

10: function f(x)

11: pi=atan(1.0)*4.0

12: f=exp(-x)*sin(4*pi*x)

13: return

14: end

15: subroutine plotd

16: dimension x1(0:20),y1(0:20)
17: n=20

18: do 10 i=0,n

19: x1(i)=float(i)/float(n)
20: yl(i)=f(x1(i))
21: 10 continue
22: call linewidth(1.5)
23: call linety(1)
24: call setgray(0.0)
25: call plot(x1(0),y1(0),3)
26: do 30 i=1,n-2
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27:
28:
29:
30:
31:
32:
33:
34:
35:
36:
37:
38:
39:
40:
41:
42:
43:
44
45:
46:
47:
48:
49:
50:
b1:
52:
B3:
54:
b5:
56:
B7:
58:
59:
60:
61:
62:
63:
64:
65:
66:
67:
68:
69:
70:
T1:
72:
73:

&
30

&

&

10

20

call splinel(x1(i-1),y1(i-1),x1(i),y1(i),x1(i+1),y1(i+1),x1(i+2),

continue

y1(i+2),-1)

call splinel(x1(n-3),y1(®n-3),x1(n-2),y1(n-2),x1(n-1),yl1(n-1),

x1(n),y1(n),0)

call splinel(x1(n-3),y1(n-3),x1(n-2),y1(n-2),x1(n-1),y1(n-1),

call stroke()
continue
return
end
subroutine frame
call linewidth(1.0)
call rect(0.0,-1.0,1.0,1.0,0.0,1.0,1)
nx=2
do 10 ix=1,nx*10-1
x=float (ix)/float (nx*10)
dy=1.0
if (ix/10%*10.eq.ix) then
call setgray(0.5)
else
call setgray(0.8)
end if
call plot(x,-dy,3)
call plot(x,dy,2)
call stroke()
continue
ny=2
do 20 iy=1,ny*10-1
y=float(iy)/float (ny*10)*2.0-1.0
dx=1.0
if (iy/10*10.eq.iy) then
call setgray(0.5)
else
call setgray(0.8)
end if
call plot(0.0,y,3)
call plot(dx,y,2)
call stroke()
continue
call setgray(0.0)
call textx(0.75,0.0,1,°x’)
call textx(0.05,0.02,1,°0’)
call textx(0.55,0.02,3,°0.57%)
call textx(0.95,0.02,1,°17)
call texty(0.0,0.5,1,’y?)
call texty(0.0,-1.0,2,’-1?)

35
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74: call texty(0.0,0.0,1,°07)

75: call texty(0.0,1.0,1,°1%)
76: return
T7: end
1
y
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0000 9(samp9.for)

1: C Plotting program for general purpose using postscript
2: call init

3: call viewport(0.2,0.2,0.8,0.8)

4: call xyworld(0.0,0.0,4.0,4.0)

5: call frame

6: call plotd

7: call fin

8: stop

9: end

10: function f(x)

11: f=x*%3/(5.0+x%x2)+10.0

12: return

13: end

14: subroutine plotd

15: dimension x1(0:20),y1(0:20)

16: n=20

17: do 10 i=0,n

18: x1(i)=1.0%(10.0) **x(float (i) /float(n)*4.0)
19: y1(i)=f(x1(i))
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20:
21:
22:
23:
24:
25:
26:
27:
28:
29:
30:
31:
32:
33:
34:
35:
36:
37:
38:
39:
40:
41:
42:
43:
44
45:
46:
47:
48:
49:
50:
b1:
52:
B3:
54:
b5:
56:
B7:
58:
59:
60:
61:
62:
63:
64:
65:
66:

10 continue
do 20 i=0,n
x1(i)=alogl0(x1(i))
y1(i)=alogl0(y1(i))
20 continue
call linewidth(1.5)
call linety(1)
call setgray(0.0)
call plot(x1(0),y1(0),3)
do 30 i=1,n-2
call splinel(x1(i-1),y1(i-1),x1(i),y1(i),x1(i+1),y1(i+1),x1(i+2),
% y1(i+2),-1)
30 continue
call splinel(x1(i-3),y1(i-3),x1(i-1),y1(i-1),x1(i),y1(i),x1(i+1),

& y1(i+1),0)
call splinel(x1(i-3),y1(i-3),x1(i-1),y1(i-1),x1(i),y1(i),x1(i+1),
& y1(i+1),1)
call stroke()

continue
return
end

subroutine frame
call linewidth(1.0)
call rect(0.0,0.0,4.0,4.0,0.0,1.0,1)
nx=4
do 10 ix=0,nx-1
call setgray(0.3)
x=float (ix)
dy=4.0
if(ix.ne.0) then
call plot(x,0.0,3)
call plot(x,dy,2)
call stroke()
end if
do 20 ixx=2,9
call setgray(0.8)
x=float (ix)+aloglO(float(ixx))
call plot(x,0.0,3)
call plot(x,dy,2)
call stroke()
20 continue
10 continue
ny=4
do 30 iy=0,ny-1
call setgray(0.5)
y=float (iy)
dx=4.0
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67: if (iy.ne.0) then

68: call plot(0.0,y,3)
69: call plot(dx,y,2)
70: call stroke()
T1: end if
72: do 40 iyy=2,9
73: call setgray(0.8)
T4: y=float(iy)+aloglO(float(iyy))
75: call plot(0.0,y,3)
76: call plot(dx,y,2)
T7: call stroke()
78: 40 continue
79: 30 continue
80: call setgray(0.0)
81: call textx(3.5,0.0,1,°x’)
82: call textx(0.0,0.02,1,°17)
83: call textx(1.0,0.02,2,°10’)
84: call textx(2.0,0.02,3,100’)
85: call textx(3.0,0.02,4,°1000’)
86: call textx(4.0,0.02,5,2100007)
87: call texty(0.0,3.5,1,’y?)
88: call texty(0.0,0.0,1,717%)
89: call texty(0.0,1.0,2,7107)
90: call texty(0.0,2.0,3,7100’)
91: call texty(0.0,3.0,4,71000’)
92: call texty(0.0,4.0,5,710000’)
93: return
94: end
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gooono 3
0000000000 y=sin(2.0rz) xsin(ry) 0000000000
0000 10(sampl0.for)

1: ¢ Plotting routine of equi-streamline in colors
2: parameter (nx=200,ny=100)
3: common /par/dx,dy

4: call init

5: call viewport(0.2,0.2,0.8,0.5)
6: call xyworld(0.0,0.0,2.0,1.0)
7: call frame

8: call draw(1.0,-1.0,20)

9: call frame

10: call fin

11: stop

12: end

13:c

14: subroutine frame

15: call linewidth(1.0)

16: call rect(0.0,0.0,2.0,1.0,0.0,1.0,1)
17: nx=4

18: do 10 ix=0,2*nx-1

19: call setgray(0.0)
20: x=float (ix)/float (nx)*2.0
21: dy=0.05
22: call plot(x,0.0,3)
23: call plot(x,dy,2)
24: call stroke()
25: 10 continue
26 ny=2
27: do 20 iy=0,ny-1
28: call setgray(0.0)
29: y=float(iy)/float (ny)
30: dx=0.05
31: call plot(0.0,y,3)
32: call plot(dx,y,2)
33: call stroke()

34: 20 continue

35: call textx(1.5,0.0,1,’x’)
36: call textx(0.0,0.02,1,°0’)
37: call textx(1.0,0.02,1,°1’)
38: call textx(2.0,0.02,1,°27)
39: call texty(0.0,0.75,1,’y?)
40: call texty(0.0,0.0,1,°0?%)
41: call texty(0.0,0.5,3,70.57)
42: call texty(0.0,1.0,1,’1?%)
43: return
44: end
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45: function f(x,y)

46: pi=3.14159
47: f=sin(2.0*pi*x)*sin(pix*y)
48: return
49: end
50: subroutine draw(fmax,fmin,nline)
51: parameter (nx=200,ny=100)
52: dx=2.0/float (nx)
53: dy=1.0/float(ny)
54: do 10 iy=1,ny
55: y=float(iy)/float (ny)
56: do 10 ix=1,nx
57: x=float (ix)/float (nx)
58: color=(f(x,y)-fmin)/(fmax-fmin)
59: call plot((ix-1)*dx,(iy-1)*dy,3)
60: call plot(ix*dx, (iy-1)*dy,2)
61: call plot(ix*dx,iy*dy,2)
62: call plot((ix-1)*dx,iy*dy,2)
63: write(l,*) ’ closepath’
64: r=color*0.8+0.2
65: g=0.1
66: b=(1.0-color)*0.8+0.2
67: call setrgb(r,g,b)
68: write(1l,*) ’ fill’
69: write(1l,*) ’ stroke’
70: 10 continue
T71: return
72: end
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7.1 O0O0oboood

00000000 00oooc0oooo0oooooooOo00oOn pshasiceppd0000O0OCOOOOOOOOO
0000 cppO0000D0O0OO0DOOO pshasicepp0 000 COOOOOODOOOODOODODDOODOOODOODO
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0000000000000000 main.cppd 000000 Opshasic.epp00000000000000000000
00 DOODOO0O0O0O00000\CCOOOO000D00000000000000000 maincpp00000000
00000 psbasicepp000 ps.h 00000000

D :\CCO cl0 main.cpp O psbasic.cpp
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mainexeJO0O000000CDOOCO0O0OD0COOOOOOOODODO0O0D0O000COOO0O Otempl.psd0000O PostScript
ooooooooooo

D :\CCO main.exe

PostScript 00 00 templ.ps0 000000
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000000000 0000000000000000000000000 (pshasic.for) 0000000000000
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void O main()

{
0

init();
0
| 00000000000
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fin();
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000000000000000 (2,y) 00000 (X,Y)000000000000(0000000000 subroutine
init 000 call xyworld 0 0000000000 Ocall viewport 1 00000000000000)

Y

__________________________________ (171) (X,Y)

y L @y
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000oQoOoO (0.8,08) 000000000000 O0OOOOOUOOOOOOOOOOOOUUOO0OOUOODUOOUOO
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O00O0o -2 (sampo s.cpp) 0000000000000 '1'00000000O0000O0O0O Olined OO0 1linelO
0000000000000000o0 (sampo .cpp) 0000 000000000000 OO0OOOOOOOOOOOO
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0000 1(sampl.cpp)

#include <stdio.h>

#include <stdlib.h>

#include <string.h>

#include <math.h>

#include "ps.h"

void main()

{
init();
viewport(0.2,0.2,0.8,0.8); xyworld(0.0,0.0,1.0,1.0);
linety(1); plot(0.1, 0.1, 3); plot(0.8, 0.1, 2); stroke();
linety(2); plot(0.1, 0.2, 3); plot(0.8, 0.2, 2); stroke();
linety(3); plot(0.1, 0.3, 3); plot(0.8, 0.8, 2); stroke();
fin();
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0000 2(samp2.cpp)

#include <stdio.h>
#include <stdlib.h>
#include <string.h>
#include <math.h>

a H»H W NN -

#include "ps.h"
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6: void main()

7: o
8: init();
9: viewport(0.2,0.2,0.8,0.8); xyworld(0.0,0.0,1.0,1.0);
10: linety(1); linewidth(2.0);
11: circ(0.3, 0.3, 0.2, 0.0, 2.0, 1);
12: rect(0.6, 0.1, 0.8, 0.5, 0.0, 1.0, 1);
13: fin();
14: }
031:0000a0.
0000 2-2(samp2s.cpp)
1: #include <stdio.h>
2: #include <stdlib.h>
3: #include <string.h>
4: #include <math.h>
5: #include "ps.h"
6: void main()
7: o
8: init();
9: viewport(0.2,0.2,0.8,0.8); xyworld(0.0,0.0,1.0,1.0);
10: linety(1); linewidth(2.0);
11: circ1(0.3, 0.3, 0.2);
12: linewidth(1.0);
13: rect1(0.6, 0.1, 0.8, 0.5);
14: fin();
15: }
oooonoad

oobooOoboooooooooooooobooboobOoosb 1woocooooobooooooooooooDbn
O0o0o0o0obo0odbod Times-RomanO OO OODOO 10pt00000000ODODONI-130000000000O 3
000000000 o0oooooooooooo (o 32)0

0000 3(samp3.cpp)

1: #include <stdio.h>
2: #include <stdlib.h>
3: #include <string.h>
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4: #include <math.h>
5: #include "ps.h"
6: void main()
7: {
8: init () ;setchar(1,10);
9: viewport(0.2,0.2,0.8,0.8); xyworld(0.0,0.0,1.0,1.0);
10: text(0.1,0.1,19,"Doshisha University");
11: triangl(0.0,0.0,0.15,60.0,0.8,1.0,1);
12: triangl(0.0,0.0,0.15,180.0,0.8,1.0,1);
13: triangl(0.0,0.0,0.15,300.0,0.8,1.0,1);
14: fin();
15: }
Doshisha University
032:000000.
0000 3-2(samp3s.cpp)
1: #include <stdio.h>
2: #include <stdlib.h>
3: #include <string.h>
4: #include <math.h>
5: #include "ps.h"
6: void main()
7: {
8: init () ;setchar(1,18);
9: viewport(0.2,0.2,0.8,0.8); xyworld(0.0,0.0,1.0,1.0);
10: text(0.1,0.1,19,"Doshisha University");
11: linewidth(1.0) ;setgray(0.8);
12: trianglfil11(0.0,0.0,0.15,60.0);
13: trianglfil11(0.0,0.0,0.15,180.0);
14: trianglfill11(0.0,0.0,0.15,300.0);
15: fin();
16: }
oooon

0000000000xO00yOOOOOODOO0OO0OO0O0O0O0011000x001200y00000130000000
00000 (0 33)0

‘ 000 O 4(samp4.cpp)

1: #include <stdio.h>
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#include <stdlib.h>
#include <string.h>
#include <math.h>
#include "ps.h"

void main()

{
init();
viewport(0.1, 0.1, 0.5, 0.5);
xyworld(-1.0, -0.2, 1.0, 1.8);
arrow(-1.0, 0.0, 1.0, 0.0, 0.05, 0.0, 1.5);
arrow(0.0, -0.2, 0.0, 1.8, 0.05, 0.0, 1.5);
parabola(-0.8, 1.5, 0.0, 0.0, 0.8, 1.5 , 0.0, 2.0, 1);
setchar (1, 20);
text(0.95,-0.2, 1,"x"); text(-0.2, 1.75, 1,"y");
fin();

}

33
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0000 4-2(samp4s.cpp)
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#include <stdio.h>

#include <stdlib.h>

#include <string.h>

#include <math.h>

#include "ps.h"

void main()

{
init();
viewport(0.1, 0.1, 0.5, 0.5);
xyworld(-1.0, -0.2, 1.0, 1.8);
linewidth(1.5);
arrowl(-1.0, 0.0, 1.0, 0.0, 0.05);
arrow1(0.0, -0.2, 0.0, 1.8, 0.05);

parabolal(-0.8, 1.5, 0.0, 0.0, 0.8, 1.5);

setchar (1, 20);

text(0.95,-0.2, 1,"x"); text(-0.2, 1.75, 1,"y");
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17: fin();
18: }
ooo
00000000 oDoOdD0o0oDooDooooooooogn
dz dy
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0000 5(sampb.cpp)
1: #include <stdio.h>
2: #include <stdlib.h>
3: #include <string.h>
4: #include <math.h>
5: #include "ps.h"
6: void plotdl(void);
7: void main()
8: {
9: init();
10: viewport(0.2, 0.2, 0.8, 0.8);
11: xyworld(-0.2, -0.2, 1.2, 1.2);
12: line(0.5, 0.0, 0.5, 0.02, 0.0, 2.0, 1);
13: line(1.0, 0.0, 1.0, 0.02, 0.0, 2.0, 1);
14: line(0.0, 0.5, 0.02, 0.5, 0.0, 2.0, 1);
15: line(0.0, 1.0, 0.02, 1.0, 0.0, 2.0, 1);
16: arrow(-0.1, 0.0, 1.2, 0.0, 0.02, 0.0, 2.0);
17: arrow(0.0, -0.1, 0.0, 1.2, 0.02, 0.0, 2.0);
18: textx(1.2,-0.02,1,"x");
19: textx(0.5,-0.02,3,"0.5");
20: textx(1.0,-0.02,3,"1.0");
21: texty(-0.02,1.2,1,"y");
22: texty(0.0,0.5,3,"0.5");
23: texty(0.0,1.0,3,"1.0");
24 : textx(-0.06,-0.02,1,"0");
25: plotd1();
26: fin();
27: }
28: void plotdi(void)
29: {
30: int n,m,ix,iy,it;double dt,dx,dy,ds,x0,y0,x1,y1;
31: linewidth(1.0); setgray(0.6); linety(1);
32: m=10;
33: for (ix=0;ix<=m;ix++){
34: for (iy=0; iy<=m;iy++){
35: x0=0.0+1.0*double(ix)/double(m); y0=0.0+1.0*float(iy)/float(m);
36: dt=0.05; dx=1.0; dy=3.0*x0*y0; ds=sqrt(dx*dx+dy*dy) ;
37: if(ds!=0.0) {
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38: x1=x0+dx/ds*0.05; yl=y0+dy/dsx*0.05; arrow(x0,y0,x1,y1,0.01,0.6,1.039: );
40: }

41: }
42: }
43: stroke(); newpath(); setgray(0.4); linewidth(1.2); linety(1);
44 n=40; m=1;
45: for(ix=0;ix<=0;ix++){
46: for(iy=0;iy<=0;iy++){
47 : x0=0.0; y0=0.1;
48: dt=0.0128;
49: plot(x0,y0,3);
50: for(it=1;it<=2*n;it++){
51: x1= x0+1.0*dt;yl= y0+3.0%x0*yO*dt;
52: plot(x1l,y1,2);
53: x0=x1;y0=y1;
54: }
55: }
56: }
57: stroke();
58: return;
59: }
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0000 5-2(sampbs.cpp)

#include <stdio.h>
#include <stdlib.h>
#include <string.h>
#include <math.h>
#include "ps.h"
void plotdil(void);

~N O O W N

void main()
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10:
11:
12:
13:
14:
15:
16:
17:
18:
19:
20:
21:
22:
23:
24:
25:
26:
27
28:
29:
30:
31:
32:
33:
34:
35:
36:
37:
38:
39:
40:
41:
42:
43:
44:
45:
46:
47:
48:
49:
50:
b1:
52:
B3:
54:

¥

init();

viewport(0.2, 0.2, 0.8, 0.8);
xyworld(-0.2, -0.2, 1.2, 1.2);
linewidth(2.0);

line1(0.5, 0.0, 0.5, 0.02);
line1(1.0, 0.0, 1.0, 0.02);
line1(0.0, 0.5, 0.02, 0.5);
line1(0.0, 1.0, 0.02, 1.0);
arrowl1(-0.1, 0.0, 1.2, 0.0, 0.02);
arrow1(0.0, -0.1, 0.0, 1.2, 0.02);
textx(1.2,-0.02,1,"x");
textx(0.5,-0.02,3,"0.5");
textx(1.0,-0.02,3,"1.0");
texty(-0.02,1.2,1,"y");
texty(0.0,0.5,3,"0.5");
texty(0.0,1.0,3,"1.0");
textx(-0.06,-0.02,1,"0");
plotd1();

fin();

void plotdl(void)

{

int n,m,ix,iy,it;double dt,dx,dy,ds,x0,y0,x1,y1;
linewidth(1.0); setgray(0.6); linety(1);
m=10;
for (ix=0;ix<=m;ix++){
for (iy=0; iy<=m;iy++){
x0=0.0+1.0*double(ix) /double (m); y0=0.0+1.0*float(iy)/float(m);
dt=0.05; dx=1.0; dy=3.0*x0*y0; ds=sqrt(dx*dx+dy*dy) ;
if(ds!=0.0) {
x1=x0+dx/ds*0.05; yl=y0+dy/ds*0.05; arrowl(x0,y0,x1,y1,0.01);
}

}
stroke(); newpath(); setgray(0.4); linewidth(1.2); linety(1);
n=40; m=1;
for(ix=0;ix<=0;ix++){
for(iy=0;iy<=0;iy++){
x0=0.0; y0=0.1;
dt=0.0128;
plot(x0,y0,3);
for(it=1;it<=2*n;it++){
x1= x0+1.0*dt;yl= y0+3.0%x0*yO*dt;
plot(xl,y1,2);
x0=x1;y0=y1;
}
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55: }

56: }

57: stroke();
58: return;
59: }
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0000 6(samp6.cpp)

1: #include <stdio.h>

2: #include <stdlib.h>

3: #include <string.h>

4: #include <math.h>

5: #include "ps.h"

6: void main()

7: o

8: init();

9: viewport(0.2, 0.2, 0.8, 0.8);

10: xyworld (0.0, 0.0, 1.0, 1.0);

11: linewidth(2.0);

12: line(0.0, 0.0, 0.1, 0.0, 0.0, 2.0, 1);
13: coil(0.1, 0.0, 0.3, 0.0, 0.03, 6, 2.0);
14: line(0.3, 0.0, 0.4, 0.0, 0.0, 2.0, 1);
15: line(0.4, 0.0, 0.4, 0.3, 0.0, 2.0, 1);
16: line(0.4, 0.3, 0.3, 0.3, 0.0, 2.0, 1);
17: resist(0.3, 0.3, 0.1, 0.3, 2.0, 2.0);
18: line(0.1, 0.3, 0.0, 0.3, 0.0, 2.0, 1);
19: line(0.0, 0.3, 0.0, 0.2, 0.0, 2.0, 1);
20: battery(0.0, 0.2, 0.0, 0.1, 0.1, 2.0);
21: line(0.0, 0.1, 0.0, 0.0, 0.0, 2.0, 1);
22: fin();
23: }

035 000.
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0000 6-2(samp6s.cpp)
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#include <stdio.h>
#include <stdlib.h>

#include <string.h>

#include <math.h>

#include "ps.h"

void main()

{

S

init();

viewport(0.2, 0.2, 0.8, 0.8);

xyworld (0.0, 0.0, 1.0, 1.0);
linewidth(2.0);

line1(0.0, 0.0, 0.1, 0.0);

coil(0.1, 0.0, 0.3, 0.0, 0.03, 6, 2.0);
linewidth(2.0);

line1(0.3, 0.0, 0.4, 0.0);

line1(0.4, 0.0, 0.4, 0.3);

line1(0.4, 0.3, 0.3, 0.3);

resist(0.3, 0.3, 0.1, 0.3, 2.0, 2.0);
linewidth(2.0);

line1(0.1, 0.3, 0.0, 0.3);

line1(0.0, 0.3, 0.0, 0.2);
battery(0.0, 0.2, 0.0, 0.1, 0.1, 2.0);
linewidth(2.0);

line1(0.0, 0.1, 0.0, 0.0);

fin();

ooboobooo0b y=sine00000O0OO0ODOOOODOO

0000 7(samp7.cpp)
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#include <stdio.h>
#include <stdlib.h>
#include <string.h>

#include <math.h>

#include "ps.h"

void frame(void);

void drawline(void);

void main()

{

init();
viewport(0.2, 0.2, 0.8, 0.8);
xyworld(-1.2, -1.2, 1.2, 1.2);
frame() ;

drawline();
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15: fin();

16: }

17: void frame()

18: {

19: int n,i;double x,y,dx,dy;

20: arrow( -1.1, 0.0, 1.1, 0.0, 0.02, 0.0, 1.0);
21: arrow( 0.0, -1.1, 0.0, 1.1, 0.02, 0.0, 1.0);
22: text(1.0,-0.1,1,"x");

23: text(-0.1,1.0,1,"y");

24 : text(-0.1,-0.1,1,"0");

25: n=10;

26: for (i=1;i<=n;i++){

27: x=0.1%i; if (i/5%5==1) dy=0.02; else dy=0.01;
28: line( -x, -dy, -x, dy, 0.0, 1.0, 1);

29: line( x, -dy, x, dy, 0.0, 1.0, 1);

30: }

31: for(i=1;i<=n;i++){

32: y=0.1%i; if (i/5%5==1i) dx=0.02; else dx=0.01;
33: line( -dx, -y, dx, -y, 0.0, 1.0, 1);

34: line( -dx, y, dx, y, 0.0, 1.0, 1);

35: } stroke();

36: return;

37: }

38: void drawline(void)

39: {

40: int i,nx=100;double x,y,t;

41: x=-1.0; y=0.0;

42: linewidth(1.5);

43: plot( x, y, 3);

44 for (i=-nx+1;i<=nx;i++){

45: t = double(i)/double(nx);x = t; y = sin(t*3.14159);
46: plot( x, y, 2);

47: } stroke();

48: return;

49: }

000000000 framed 000000000000 0O0O0O00O0OCCOOOOO0O0O0OOO0O0OOOO0OO drawline
ooo0o0o00obo0O0O000bo0O040000000000000000O0 360000

0000 7-2(samp7s.cpp)

: #include <stdio.h>
: #include <stdlib.h>
: #include <string.h>
: #include <math.h>

: #include "ps.h"
void frame(void);

void drawline(void);

0 N O Ok W N

: void main()
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9:
10:
11:
12:
13:
14:
15:
16:
17:
18:
19:
20:
21:
22:
23:
24:
25:
26:
27
28:
29:
30:
31:
32:
33:
34:
35:
36:
37:
38:
39:
40:
41:
42:

{

void

void

036:0000.

init();

viewport(0.2, 0.2, 0.8, 0.8);
xyworld(-1.2, -1.2, 1.2, 1.2);
frame() ;

drawline();

fin();

frame ()

int n,i;double x,y,dx,dy;
linewidth(1.0);
arrowl( -1.1, 0.0, 1.1, 0.0, 0.02);
arrowi( 0.0, -1.1, 0.0, 1.1, 0.02);
text(1.0,-0.1,1,"x");
text(-0.1,1.0,1,"y");
text(-0.1,-0.1,1,"0");
n=10;
for (i=1;i<=n;i++){
x=0.1%i; if(i/5%5==1) dy=0.02; else
linel( -x, -dy, -x, dy);
line1( x, -dy, x, dy);
}
for(i=1;i<=n;i++){
y=0.1%i; if(i/5%5==1) dx=0.02; else
line1( -dx, -y, dx, -y);
linel( -dx, y, dx, ¥);
} stroke();

return;

drawline(void)

int i,nx=100;double x,y,t;
x=-1.0; y=0.0;

dy=0.01;

dx=0.01;
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43: linewidth(1.5);

44: plot( x, y, 3);

45: for (i=-nx+1;i<=nx;i++){

46: t = double(i)/double(nx);x = t; y = sin(t*3.14159);
47: plot( x, y, 2);

48: } stroke();

49: return;

50: }

ogooood 1
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000 O 8(samp8.cpp) ‘

1: #include <stdio.h>

2: #include <stdlib.h>

3: #include <string.h>

4: #include <math.h>

5: #include "ps.h"

6: double f(double);

7: void plotd(void);

8: void frame(void);

9: void main()

10: {

11: init();

12: viewport(0.2,0.2,0.8,0.6); xyworld(0.0,-1.0,1.0,1.0);
13: frame() ;

14: plotd();

15: fin();

16: }

17: double f(double x)

18: { double pi, fx;

19: pi=atan(1.0)*4.0;
20: fx=exp(-x)*sin(4.0*pi*x);
21: return(fx);
22: }
23: void plotd()
24: {
25: double x1[21],y1[21];int n,i;
26: n=20;
27: for(i=0;i<=n;i++){
28: x1[i]l=double(i)/double(n);y1l[il=f(x1[il); }
29: linewidth(1.5);linety(1);
30: setgray(0.0);
31: plot(x1[0],y1[0],3);
32: for (i=1;i<=n-2;i++){
33: splinel (x1[i-1],y1[i-1],x1[i],y1[i],x1[i+1],y1[i+1]

[0ool ,x1[i+2],y1[i+2],-1); }
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34:

35:

36:
37:
38:
39:
40:
41:
42:
43:
44 :
45:
46:
47:
48:
49:
50:
b1:
52:
B3:
54:
b5:

56:
57:
58:

00000 O0O00O0oOooOoO0oOonD frame0 000000000000 OODOOOCOOOOODOODOOO4600000
goooooooooDbOoOoDwyoobOO 20000000000 00DO000O0ODOO 370000

splinel(x1[n-3],y1[n-3],x1[n-2],y1[n-2]
[OO0O] ,x1[n-1],y1[n-1],x1[n],y1[n],0);
splinel(x1[n-3],y1[n-3],x1[n-2],y1[n-2]
[oool ,x1[n-11,y1[n-1],x1[n],y1[n],1);
stroke();
}
void frame()
{
int ix,nx,iy,ny; double x,dx,y,dy;
linewidth(1.0);
rect(0.0,-1.0,1.0,1.0,0.0,1.0,1);
nx=2;
for(ix=1;ix<=nx*10-1;ix++){
x=double (ix) /double (nx*10) ;dy=1.0;
if (ix/10%10==ix) setgray(0.5); else setgray(0.8);
plot(x,-dy,3);plot(x,dy,2);stroke(); }
ny=2;
for(iy=1;iy<=ny*10-1;iy++){
y=double(iy) /double(ny*10)*2.0-1.0;dx=1.0;
if (iy/10%10==iy) setgray(0.5); else setgray(0.8);
plot(0.0,y,3) ;plot(dx,y,2) ;stroke(); }
setgray(0.0);
textx(0.75,0.0,1,"x");
textx(0.05,0.02,1,"0") ;textx(0.55,0.02,3,"0.5")
[OO0O] ;textx(0.95,0.02,1,"1");
texty(0.0,0.5,1,"y");
texty(0.0,-1.0,2,"-1") ;texty(0.0,0.0,1,"0") ;texty(0.0,1.0,1,"1");
}
1
y
0
0 05 X
1
037000 1.
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0000000000 y=2%/(50+2%)+1000000000000

0000 9(samp9.cpp)

1: #include <stdio.h>
2: #include <stdlib.h>
3: #include <string.h>
4: #include <math.h>
5: #include "ps.h"
6: double f(double);
7: void plotd(void);
8: void frame(void);
9: void main()
10: {
11: init();
12: viewport(0.2,0.2,0.8,0.8); xyworld(0.0,0.0,4.0,4.0);
13: frame();
14: plotd();
15: fin();
16: }
17: double f(double x)
18: { double pi, fx;
19: fx=x*x*x/(5.0+x*x)+10.0;
20: return(fx);
21: }
22: void plotd()
23: {
24: double x1[21],y1[21];int n,i;
25: n=20;
26: for(i=0;i<=n;i++){
27: x1[i]=1.0*pow(10.0,double(i)/double(n)*4.0);y1[il=f (x1[i]1); }
28: for(i=0;i<=n;i++){
29: x1[i]=log10(x1[i]);y1[il=logl0(y1[il);}
30: linewidth(1.5);linety(1);
31: setgray(0.0);
32: plot(x1[0],y1[0],3);
33: for (i=1;i<=n-2;i++){
34: splinel (x1[i-1],y1[i-1],x1[i],y1[i]
[0o0O] ,x1[i+1],y1[i+1],x1[i+2],y1[i+2],-1); }
35: splinel(x1[n-3],y1[n-3],x1[n-2],y1[n-2]
[OO0O] ,x1[n-1],y1[n-1],x1[n],y1[n],0);
36: splinel(x1[n-3],y1[n-3],x1[n-2],y1[n-2]
[0o0Ol ,x1[n-11,y1[n-1],x1[n],y1[n],1);
37: stroke();
38: }
39: void frame()
40: {
41: int ix,nx,iy,ny,ixx,1iyy; double x,dx,y,dy;
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42:
43:
44:
45:
46:
47:
48:
49:
50:
b1:
52:
B3:
54:
b5:
56:
B7:
58:
59:
60:
61:
62:

63:
64:

65:

66:
67:

000000000000 0000 frame000000C000OO0O0OOOOO0OOCOOODOCOCOODOOS0ODO

linewidth(1.0);
rect(0.0,0.0,4.0,4.0,0.0,1.0,1);
nx=4;
for (ix=0;ix<=nx-1;ix++){
setgray(0.3);
x=double (ix) ;dy=4.0;
if (ix!=0) {plot(x,0.0,3);plot(x,dy,2);stroke(); }
for (ixx=2;ixx<=9;ixx++) {
setgray(0.8) ;x=double(ix)+logl0(double (ixx));
plot(x,0.0,3);plot(x,dy,2);stroke(); 1} }
ny=4;
for(iy=0;iy<=ny-1;iy++){
setgray(0.5);
y=double(iy) ;dx=4.0;
if (iy!=0) {plot(0.0,y,3);plot(dx,y,2);stroke(); }
for(iyy=2;iyy<=9;iyy++) {
setgray(0.8) ;y=double(iy)+logl0(double (iyy));
plot(0.0,y,3);plot(dx,y,2) ;stroke(); 1} }
setgray(0.0);
textx(3.5,0.0,1,"x");
textx(0.0,0.02,1,"1");textx(1.0,0.02,2,"10")
[OO0O] ;textx(2.0,0.02,3,"100");
textx(3.0,0.02,4,"1000") ;textx(4.0,0.02,5,"10000") ;
texty(0.0,3.5,1,"y");
texty(0.0,0.0,1,"1") ;texty(0.0,1.0,2,"10")
[0ool ;texty(0.0,2.0,3,"100");
texty(0.0,3.0,4,"1000") ;texty(0.0,4.0,5,"10000") ;
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0000000000 y=sin(2.07z) xsin(ry) 0000000000

0000 10(sampl0.cpp)

OB DD DWW W W W W W WWWNDNDNDNDNDNDDNDNDNDDNNRPR R PR R B PR R
a b W N P, O © 00 N O O b W NP O O 00 N O O b W NP O ©W 00 N O O b W N = O

©O© 00 N O O b W N =

#include <stdio.h>

#include <stdlib.h>

#include <string.h>

#include <math.h>

#include "ps.h"

double f(double,double);

void draw(double, double, int);
void frame(void);

void main()

: q

init();

viewport(0.2,0.2,0.8,0.5); xyworld(0.0,0.0,2.0,1.0);
draw(1.0,-1.0,20);

frame() ;

fin();

: 3
: void frame()

: q

int ix,nx,iy,ny,ixx,iyy; double x,dx,y,dy;
linewidth(1.0);
rect(0.0,0.0,2.0,1.0,0.0,1.0,1);
nx=4;
for(ix=0;ix<=2*nx-1;ix++){
setgray (0.0);
x=double (ix) /double (nx)*2.0;dy=0.05;
plot(x,0.0,3);plot(x,dy,2);stroke(); }
ny=4;
for(iy=0;iy<=ny-1;iy++){
setgray(0.0);
y=double(iy) ;dx=0.05;
plot(0.0,y,3);plot(dx,y,2) ;stroke(); }
textx(1.5,0.0,1,"x");
textx(0.0,0.02,1,"0") ;textx(1.0,0.02,1,"1") ;textx(2.0,0.02,1,"2");
texty(0.0,0.75,1,"y");
texty(0.0,0.0,1,"0") ;texty(0.0,0.5,3,"0.5") ;texty(0.0,1.0,1,"1");
}

: double f(double x,double y)
: double pi, fx;

pi=3.14159;
fx=sin(2.0*pi*x)*sin(pixy) ;

return(fx);

:
: void draw(double fmax,double fmin, int nline)

: q

double x,y,dx,dy,color,r,g,b;int nx,ny,ix,iy;
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46: nx=200;ny=100;dx=2.0/double(nx) ;dy=1.0/double (ny) ;

47: for(iy=0;iy<=ny;iy++){ y=double(iy)/double(ny);

48: for (ix=0;ix<=nx;ix++){ x=double(ix)/double(nx);

49: color=(f(x,y)-fmin)/(fmax-fmin) ;

50: plot ((ix-1)*dx, (iy-1)*dy,3) ;plot (ix*dx, (iy-1)*dy,2);

51: plot (ix*dx,iy*dy,2) ;plot((ix-1)*dx,iy*dy,2);closepath();
52: setrgb(color*0.5,0.1,1.0-color*0.5);

53: £i11() ;stroke(); }

54: }

55: }
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00000000000

00000000000 000000000000000000000000000000000O00000000
00000000000000000000 1(ig) 0000000000000 4000000000000000
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| 0000000 (pg.data) |
1.0 1.2
2.0 3.2
3.25 5.6
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6.8 2.1

0go0o0o0o0o0o00o0ooooooon

00000000000 000 Opsbasic.for(pshasic.epp) 00 0000000000000 0000OCOOO DOO
000000000 \FIGUREOOOOOOUOOOOUOOOODOOOOOO figfor(figepp) D0 OO 0O0OO0OOOOO
O psbasic.for(psbasic.cpp) 0000000

(Fortran) 0 O O

D :\FIGURE O 90 O fig.for O psbasic.for
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D :\FIGUREO cl O fig.cpp O psbasic.cpp

0000000000000 000O0000D0O0 figexeOOOOO OOOOO Opsbasic.for(psbasic.cpp) D 00O OO 0O
00000000000000000000000000 0000 psbasic.for(psbasic.cpp) 0000000000000
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gbooooooooo
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9 TXUOOUOODOoOoboooboboooooboo

O00000000o TgXOoooooooooooooooooooooooooooooooooooooooo
00000 TgXOOoooooooooooooo

00000000000000000000000000000000000000000000 Indent.sty O
Psfrag.sty O \TeX\texmf\tex\platex\base OO0 OO0 Psfrag.pro O \TeX\texmf\dvips OO0 OO0
000000000000 0O00000U00g EPS(Encapsulated PostSeript) 00 000000000 OO0O0OOOOO
000000000000 000O00000 FileQ PStoEPSOODOODOOCODOODOOOOCOODOODOOOOODOCOO
o00oo0o0oooooooOooooOo EpSOOOOODOO

000000000000 00000000000000TXOOD0D0DO0D0D0000000D0o00ooooooooQn
00000000000 oo0 IgXodoooooooooooooooooooooooooooom

\documentclass [a4paper, 10pt]{jarticle}

| OoooO0O00O0 |

\begin{document}

| 0000 |

\end{document}

gooodo0oOooooooooooooUUoOooooooooooOoOoU0UOOoU0DOOo0ODOOOOOOoOoOOooOooo
o0 30000000

\usepackage[dvips] {graphicx}

\usepackage{psfrag}

\usepackage{indent}

000000000000 00000000000000000000000000000000000000O0DO00
000000o00oooooooooooooon

1: \begin{figure}

2: \begin{center}

3: \psfrag{A}[J[1[1.5]{$x$2}

4: \psfrag{B}[1[1[1.5]1{$Y$}

5: \includegraphicsx[O0OOOODOOO1{000O0O0O0 .epsI\\
6: \caption{OOODOO }

7: \end{center}

8: \end{figure}

00000000 oooooooooo0o00ooooOOoDOCOO0DOoO0D0ODOODUODOO Ofigwreddo100OO
0O O000OO0O5000 \includegraphics 00000000000 OOOO0OOCOOOOOOCOEPSOOOOO
U0050000000000000000 height=bcm O width=bcm 0 scale=0.7 OO OO0OOO0OO height O
00000 width 000 QCO0OD scaleJ00O00O00O0O0O0O0O30 4000 \psfrag OO OOOOODODOO
00000 A0 BO TgXOOOODOOODOOOOD 15000 X0OYOOOOOoOooooooooooo

OOo0OO00DO0O00D TXOOOooooooooooo TgXooboooooooo wwiloOooooooooooo
o000 dvidO0O000 wdvipsOOOOODODOOOOOOODOOOOOODOOOOOOOOOOOOO
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A Fortran 0 00 OO 0O (psbasic.for)

C plotting routines for general purpose using postscript

subroutine init

common /paper/xsize,ysize
common /viewp/xvl,yvl,xv2,yv2
common /world/xwl,ywl,xw2,yw2
open(1l,file=’templ.ps’)

C aspect ratio of the paper is 1.4143
write(1,*) ’%! Created by Jiro Mizushima’
write(1,*) ’/Times-Roman findfont 18 scalefont setfont’
write(1,*) ’/cm {28.35 mul } def ’
xsize= 21.0
ysize= 29.7
ysize= 21.0
call viewport(0.2,0.2,0.8,0.8)
call xyworld(0.0,0.0,1.0,1.0)
call linety(1)
call linewidth(1.0)

return
end
subroutine viewport(xvid,yvld,xv2d,yv2d)
common /viewp/xvl,yvl,xv2,yv2
xvi=xvid
yvi=yvid
xv2=xv2d
yv2=yv2d
return
end
subroutine xyworld(zxwld,ywld,xw2d,yw2d)
common /world/xwl,ywl,xw2,yw2
xwl=xwld
ywl=ywld
xw2=xw2d
yw2=yw2d
return
end
subroutine fin
call stroke
write(1,*) ’ showpage ’
close(1)
return
end
subroutine linety(ichar)
if (ichar.eq.1) then
write(1,*) ’[] O setdash’
else if (ichar.eq.2) then
write(1,*) ’[2 2] O setdash’
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else if (ichar.eq.3) then
write(1,*) ’[8 2] 0 setdash’
else if (ichar.eq.4) then
write(1,*) ’[8 1 1 1] O setdash’
end if

return

end

subroutine linewidth(w)
write(1l,*) w,’ setlinewidth’
return

end

subroutine setgray(g)
write(1l,*) g,’ setgray’

return

end

subroutine setrgb(r,g,b)

write(1,*) r,g,b,’ setrgbcolor’
return

end

subroutine newpath

write(1,*) ’ newpath’

return

end

subroutine closepath
write(1,*) ’ closepath’

return

end

subroutine stroke

write(1l,*) ’ stroke’

return

end

subroutine rotate(itheta)
write(1l,*) itheta,’ rotate’

return

end

subroutine scale(tx,ty)
write(l,*) tx, ty,’ scale’

return

end

subroutine translate(x,y)
common /paper/xsize,ysize
common /viewp/xvl,yvl,xv2,yv2
common /world/xwl,ywl,xw2,yw2
x1=((x-xwl) / (xw2-xwl) * (xv2-xv1) +xv1) *x5izZe
y1=((y-ywl)/ (yw2-ywl) * (yv2-yv1) +yvl) *ysize

write(1,*) x1,’> cm ’,yl,’ cm translate ’

return
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end
subroutine clipon(x1,yl,x2,y2)
call newpath
call plot(x1l, y1, 3)
call plot(x2, y1, 2)
call plot(x2, y2, 2)
call plot(xl, y2, 2)
write(l,*) ’closepath clip’
return
end
subroutine eoclipon(xl,yl,x2,y2)
call newpath
call plot(x1, yi, 3)
call plot(x2, yi1, 2)
call plot(x2, y2, 2)
call plot(xl, y2, 2)
write(1,*) ’closepath eoclip’
return
end
subroutine clipoff
write(1,*) ’initclip’
return
end
subroutine plot(x,y,ipen)
common /paper/xsize,ysize
common /viewp/xvl,yvl,xv2,yv2
common /world/xwl,ywl,xw2,yw2
x1=((x-xwl) / (xw2-xwl) * (xv2-xvl) +xvl) *xsize
y1=((y-ywl) / (yw2-ywl) * (yv2-yvl) +yvl) *ysize
if(ipen.eq.3) write(1,*) x1,’ cm ’,yl,’ cm moveto’
if(ipen.eq.2) write(1,*) x1,’ cm ’,yl,’ cm lineto’
return
end
subroutine line(x1l,y1,x2,y2,g,w,it)
call linety(it)
call linewidth (w)
call setgray(g)
call plot(x1l, y1, 3)
call plot(x2, y2, 2)
call stroke
call linety(1)
call linewidth(1.0)
call setgray(0.0)
return
end
subroutine linel(x1l,yl,x2,y2)
call plot(x1l, yi1, 3)
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call plot(x2, y2, 2)
call stroke
return
end
subroutine rect(x1,y1,x2,y2,g,w,it)
call linety(it)
call linewidth(w)
call setgray(g)
call newpath
call plot(x1l, yi1, 3)
call plot(x2, y1, 2)
call plot(x2, y2, 2)
call plot(x1l, y2, 2)
call closepath
if(g.ne.0.0) write(l,*) ’> £ill’
call stroke
call linety(1)
call linewidth(1.0)
call setgray(0.0)
return
end
subroutine rectl(xl,yl,x2,y2)
call newpath
call plot(x1l, yi1, 3)
call plot(x2, yi1, 2)
call plot(x2, y2, 2)
call plot(xl, y2, 2)
call closepath
return
end
subroutine rectfilll(x1,y1,x2,y2)
call newpath
call plot(x1l, yi1, 3)
call plot(x2, y1, 2)
call plot(x2, y2, 2)
call plot(x1l, y2, 2)
call closepath
write(1,*) ’> fill’
call stroke
return
end
subroutine circ(xl,yl,rl,g,w,it)
common /paper/xsize,ysize
common /viewp/xvl,yvl,xv2,yv2
common /world/xwl,ywl,xw2,yw2
xx1=((x1-xwl) / (xw2-xwl) * (xv2-xv1)+xvl) *xsizZe

yyl=((y1-ywl) / (yw2-ywl) * (yv2-yvi) +yvl) *ysize
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rri1=(r1/(xw2-xwl)*(xv2-xvl))*xsize
call linety(it)
call linewidth(w)
call setgray(g)
call newpath
write(1,*) xx1, > cm ’,yyl, > cm ’,rrl,’> cm ’, ’0 360 arc ’
if(g.ne.0.0) write(l,*) ’> £ill’
call stroke
call linety(1)
call linewidth(1.0)
call setgray(0.0)
return
end
subroutine circi(x1l,yl,r1)
common /paper/xsize,ysize
common /viewp/xvl,yvl,xv2,yv2
common /world/xwl,ywl,xw2,yw2
xx1=((x1-xwl) / (xw2-xwl) * (xv2-xv1)+xv1) *x5izZe
yyl1=((y1-ywl) / (yw2-ywl) * (yv2-yvl)+yvl) *ysize
rri=(r1/(xw2-xwl) *(xv2-xv1l) ) *xsize
call newpath
write(1,*) xx1, > cm ’,yyl, > cm ’,rrl,’” cm ’, ’0 360 arc ’
call stroke
return
end
subroutine circfilli(x1l,yl,rl)
common /paper/xsize,ysize
common /viewp/xvl,yvl,xv2,yv2
common /world/xwl,ywl,xw2,yw2
xx1=((x1-xwl) / (xw2-xwl) * (xv2-xv1) +xv1l) *xsize
yyl=((y1-ywl) / (yw2-ywl) * (yv2-yvl)+yvl) *ysize
rri=(r1/(xw2-xwl) *(xv2-xvl))*xsize
call newpath
write(1,*) xx1, > cm ’,yyl, > cm ’,rrl,’” cm ’, ’0 360 arc ’
write(1l,*) ’fill’
call stroke
return
end
subroutine ellipse(x1,yl,rx,ry,g,w,it)
call linety(it)
call linewidth(w)
call setgray(g)
call newpath
x=x1+rx
y=y1l
dt=3.14156%*2.0/float (20)
call plot(x,y,3)
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10

10

do 10 i=1,20
x=x1+rx*cos (dt*i)
y=yl+ry*sin(dt*i)
call plot(x,y,2)
continue
call stroke
call linety(1)
call linewidth(1.0)
call setgray(0.0)
return
end
subroutine ellipsel(xl,yl,rx,ry)
call newpath
x=x1+rx
y=y1l
dt=3.14156%2.0/float (20)
call plot(x,y,3)
do 10 i=1,20
x=x1+rx*cos (dt*i)
y=yl+ry*sin(dt*i)
call plot(x,y,2)
continue
call stroke
return
end
subroutine ellipsefilli(xl,yl,rx,ry)
call newpath
x=x1+rx
y=y1
dt=3.14156%2.0/float (20)
call plot(x,y,3)
do 10 i=1,20
x=x1+rx*cos (dt*i)
y=yl+ry*sin(dt*i)
call plot(x,y,2)
continue
write(1,*) *fill’
call stroke
return
end
subroutine arc(xl,yl,rl,t1,t2,g,w,it)
common /paper/xsize,ysize
common /viewp/xvl,yvl,xv2,yv2
common /world/xwl,ywl,xw2,yw2
xx1=((x1-xwl) / (xw2-xwl) * (xv2-xv1)+xvl) *xsizZe
yyl=((y1-ywl) / (yw2-ywl) * (yv2-yvl)+yvl) *ysize

rri=(r1/ (xw2-xwl)*(xv2-xvl) ) *xsize

68



call linety(it)

call linewidth(w)

call setgray(g)

call newpath

write(1,*) xx1, > cm ’,yyl, > cm ’,rrl,’ cm ’,t1,t2,’ arc ’
call stroke

call linety(1)

call linewidth(1.0)

call setgray(0.0)
return

end

subroutine arcl(xl,yl,rl,t1,t2)

common /paper/xsize,ysize

common /viewp/xvl,yvl,xv2,yv2

common /world/xwl,ywl,xw2,yw2
xx1=((x1-xwl) / (xw2-xwl) * (xv2-xv1) +xv1l) *xsize
yyl=((y1-ywl) / (yw2-ywl) * (yv2-yvi) +yvl) *ysize
rri=(r1/(xw2-xwl) *(xv2-xv1l) ) *xsize

call newpath

write(1,*) xx1, > cm ’,yyl, > cm ’,rrl,’ cm ’,t1,t2,’ arc ’
call stroke
return
end
subroutine curv(xl,yl,x2,y2,x3,y3,x4,y4,g,w,it)
common /paper/xsize,ysize
common /viewp/xvl,yvl,xv2,yv2
common /world/xwl,ywl,xw2,yw2
xx1=((x1-xwl) / (xw2-xwl) * (xv2-xv1)+xv1l) *x5izZe
yyl=((y1-ywl) / (yw2-ywl) * (yv2-yvi)+yvl) *ysize
xx2=((x2-xwl) / (xw2-xwl) * (xv2-xv1)+xv1l) *xsize
yy2=((y2-ywl) / (yw2-ywl) * (yv2-yvl) +yvl) *ysize
xx3=((x3-xwl) / (xw2-xwl) * (xv2-xv1)+xv1l) *x5izZe
yy3=((y3-ywl) / (yw2-ywl) * (yv2-yvi)+yvl) *ysize
xx4=((x4-xwl) / (xw2-xwl) * (xv2-xv1)+xv1l) *xsize
yyé4=((y4-ywl) / (yw2-ywl) * (yv2-yvi) +yvl) *ysize
call linety(it)

call linewidth(w)

call setgray(g)

call newpath

write(1,*) xx1,’ cm ’,yyl,’ cm moveto’
write(1,*) xx2,’ cm ’,yy2,’ cm ’,xx3,’ cm ’,yy3,’ cm ’,

xx4,’ cm’,yy4,’ cm curveto’

call stroke

call linety(1)

call linewidth(1.0)

call setgray(0.0)

return
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end
subroutine curvi(xl,y1,x2,y2,x3,y3,x4,y4)
common /paper/xsize,ysize
common /viewp/xvl,yvl,xv2,yv2
common /world/xwl,ywl,xw2,yw2
xx1=((x1-xwl) / (xw2-xwl) * (xv2-xv1)+xv1) *x5izZe
yyl=((y1-ywl) / (yw2-ywl) * (yv2-yvl)+yvl) *ysize
xx2=((x2-xwl) / (xw2-xwl) * (xv2-xv1)+xv1l) *xsize
yy2=((y2-ywl) / (yw2-ywl) * (yv2-yvi) +yvl) *ysize
xx3=((x3-xwl) / (xw2-xwl) * (xv2-xv1)+xv1l) *x5izZe
yy3=((y3-ywl) / (yw2-ywl) * (yv2-yvl)+yvl) *ysize
xx4=((x4-xwl) / (xw2-xwl) * (xv2-xv1)+xv1l) *xsize
yyé4=((y4-ywl) / (yw2-ywl) * (yv2-yvi) +yvl) *ysize
call newpath
write(1,*) xx1,’ cm ’,yyl,’ cm moveto’
write(1,*) xx2,’ cm ’,yy2,’ cm ’,xx3,’ cm ’,yy3,’ cm ’,
& xx4,’ cm’,yy4,’ cm curveto’
call stroke
return
end
subroutine triangl(x1l,yl,rl,al,g,w,it)
common /paper/xsize,ysize
common /viewp/xvl,yvl,xv2,yv2
common /world/xwl,ywl,xw2,yw2
xx1=((x1-xwl) / (xw2-xwl) * (xv2-xv1)+xv1) *x5izZe
yyl=((y1-ywl) / (yw2-ywl) * (yv2-yvl)+yvl) *ysize
rri1=(r1l/(xw2-xwl)*(xv2-xvl) ) *xsize
aal=al1%3.14159/180.0
aa2=aal+3.14159/3.0
call linety(it)
call linewidth(w)
call setgray(g)
call newpath
write(1,*) xx1,’ cm ’,yyl,’ cm moveto ’
write(1,*) xxl+rrixcos(aal),’ cm’,yyl+rri*sin(aal),’ cm lineto ’
write(1,*) xxl+rrixcos(aa2),’ cm’,yyl+rri*sin(aa2),’ cm lineto ’
call closepath
if(g.ne.0.0) write(l,*) ’> £ill’
call stroke
call linety(1)
call linewidth(1.0)
call setgray(0.0)
return
end
subroutine triangli(xl,yl,rl,al)
common /paper/xsize,ysize

common /viewp/xvl,yvl,xv2,yv2
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common /world/xwl,ywl,xw2,yw2
xx1=((x1-xwl) / (xw2-xwl) * (xv2-xv1)+xv1l) *x5izZe
yyl=((y1-ywl) / (yw2-ywl) * (yv2-yvi)+yvl) *ysize
rri1=(r1/(xw2-xwl)*(xv2-xvl))*xsize
aal=al1%3.14159/180.0
aa2=aal+3.14159/3.0
call newpath

write(1,*) xx1,’ cm ’,yyl,’ cm moveto ’

write(1,*) xxl+rrixcos(aal),’ cm’,yyl+rri*sin(aal),’ cm lineto ’
write(1,*) xxl+rrixcos(aa2),’ cm’,yyl+rri*sin(aa2),’ cm lineto ’
call closepath
call stroke

return

end

subroutine trianglfilli(xl,yl,rl,al)

common /paper/xsize,ysize

common /viewp/xvl,yvl,xv2,yv2

common /world/xwl,ywl,xw2,yw2
xx1=((x1-xwl) / (xw2-xwl) * (xv2-xv1)+xv1l) *xsize
yyl=((y1-ywl) / (yw2-ywl) * (yv2-yvi) +yvl) *ysize
rri=(r1/(xw2-xwl) *(xv2-xv1l))*xsize
aal=al1%3.14159/180.0
aa2=aal+3.14159/3.0
call newpath
write(1,*) xx1,’ cm ’,yyl,’ cm moveto ’
write(1l,*) xxl+rri*cos(aal),’ cm’,yyl+rri*sin(aal),’ cm lineto ’
write(1l,*) xxl+rri*cos(aa2),’ cm’,yyl+rri*sin(aa2),’ cm lineto ’
call closepath
write(l,*) ° fill’
call stroke

return

end

subroutine spline(x1,yl1,x2,y2,x3,y3,x4,y4,ipart,g,w,it)
ns=10
call linety(it)
call linewidth(w)
call setgray(g)
write(1,*) ’newpath’
u=float (ipart)
x=—ux(u-1.)*(u-2.)/6.*x1+(u+l.)*(u-1.)*(u-2.)/2.*x2

& —(utl.)*ux(u-2.)/2.*%x3+(u+l.)*u*x(u-1.)/6.*x4
y=—u*(u-1.)*(u-2.)/6.*yl+(u+l.)*(u-1.)*(u-2.)/2.*y2

& -(u+il.)*ux(u-2.)/2.*y3+(u+l.)*u*x(u-1.)/6.xy4
call plot(x,y,3)
do 10 i=1,ns

u=float (ipart)+float(i)/float(ns)
x=-ux(u-1.)*(u-2.)/6.*x1+(u+1.)*(u-1.)*(u-2.)/2.*x2
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&  —(u+l.)*ux(u-2.)/2.%x3+(u+l.)*ux(u-1.)/6.*x4
y=—ux(u-1.)*(u-2.)/6.*yl+(u+l.)*(u-1.)*(u-2.)/2.*y2
&  —(u+l.)*ux(u-2.)/2.*y3+(u+l.)*ux(u-1.)/6.*y4
call plot(x,y,2)
continue
call stroke
call linety(1)
call linewidth(1.0)
call setgray(0.0)
return
end
subroutine splinel(x1,y1,x2,y2,x3,y3,x4,y4,ipart)
ns=10
write(1,*) ’newpath’
u=float (ipart)
x=-ux(u-1.)*(u-2.)/6.*%x1+(u+l.)*(u-1.)*(u-2.)/2.*x2

& -(utl.)*ux(u-2.)/2.%x3+(u+l.)*ux(u-1.)/6.*x4

y=—ux(u-1.)*(u-2.)/6.xyl+(u+l.)*(u-1.)*(u-2.)/2.*y2

& -(utl.)*ux(u-2.)/2.%y3+(u+l.)*u*x(u-1.)/6.*y4

call plot(x,y,3)

do 10 i=1,ns

u=float (ipart)+float(i)/float (ns)
x=-uw*(u-1.)*(u-2.)/6.*x1+(u+tl.)*(u-1.)*(u-2.)/2.*x2

& -(u+l.)*ux(u-2.)/2.%x3+(u+l.)*ux(u-1.)/6.*x4

y=—ux(u-1.)*(u-2.)/6.*yl+(u+l.)*(u-1.)*(u-2.)/2.*y2

& -(utl.)*ux(u-2.)/2.xy3+(u+l.)*u*x(u-1.)/6.*y4

10

10

call plot(x,y,2)

continue

call stroke
return
end
subroutine parabola(xl,yl,x2,y2,x3,y3,g,w,it)
u=0.0

ns=20

call linety(it)

call linewidth(w)

call setgray(g)

call newpath
x=(u-1.)*(u-2.)/2.*x1-ux(u-2. ) *x2+u*x(u-1.) /2. *x3
y=(u-1.)*(u-2.)/2.*xyl-ux(u-2.) *y2+ux(u-1.) /2. *y3
call plot(x,y,3)

do 10 i=1,2*ns

u=float(i)/float(ns)

x=(u-1.)*(u-2.)/2.*x1-u*x(u-2.)*x2+u*x(u-1.)/2.*x3

y=(u-1.)*(u-2.)/2.xyl-u*(u-2.)*xy2+u* (u-1.) /2. *y3

call plot(x,y,2)

continue
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call stroke

call linety(1)

call linewidth(1.0)

call setgray(0.0)

return

end

subroutine parabolal(xl,yl,x2,y2,x3,y3)
u=0.0

ns=20

call newpath
x=(u-1.)*(u-2.)/2.*%xl-ux(u-2.)*x2+u*x(u-1.)/2.*x3
y=(u-1.)*(u-2.)/2.%yl-ux(u-2.)*y2+u*x(u-1.) /2.*y3
call plot(x,y,3)

do 10 i=1,2*ns
u=float(i)/float (ns)
x=(u-1.)*(u-2.)/2.*x1-u*(u-2.)*x2+u* (u-1.)/2.*x3
y=(u-1.)*(u-2.)/2.*yl-u*x(u-2.) *y2+ux(u-1.)/2.*y3
call plot(x,y,2)

continue

call stroke

return

end

subroutine arrow(xl,yl,x2,y2,d,g,w)
s=sqrt ((x2-x1) **x2+ (y2-y1) **2)
alpha=2.2

x3=x2-(x2-x1) /s*d*alpha-(y2-y1)/s*d
y3=y2-(y2-y1) /s*d*alpha+(x2-x1)/s*d
x4=x2-(x2-x1) /s*d*alpha+(y2-y1)/s*d
y4=y2-(y2-y1) /s*d*alpha-(x2-x1)/s*d
call linewidth(w)

call setgray(g)

call plot(x1, yi, 3)

call plot(x2, y2, 2)

call plot(x2, y2, 3)

call plot(x3, y3, 2)

call plot(x2, y2, 3)

call plot(x4, y4, 2)

call stroke

call linety(1)

call linewidth(1.0)

call setgray(0.0)

return

end

subroutine arrowl(x1l,yl,x2,y2,d)

s=sqrt ((x2-x1) **x2+ (y2-y1) **2)
alpha=2.2

x3=x2-(x2-x1) /s*d*alpha-(y2-y1)/s*d
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y3=y2-(y2-y1) /s*d*alpha+(x2-x1)/s*d
x4=x2-(x2-x1) /s*d*alpha+(y2-y1)/s*d
y4=y2-(y2-y1) /s*d*alpha-(x2-x1)/s*d
call plot(x1l, y1, 3)
call plot(x2, y2, 2)
call plot(x2, y2, 3)
call plot(x3, y3, 2)
call plot(x2, y2, 3)
call plot(x4, y4, 2)
call stroke
return
end
subroutine resist(x1,yl,x2,y2,d,w)
s=sqrt ((x2-x1) **x2+ (y2-y1) **2)
call linewidth(w)
dx=(x2-x1)/12.0
dy=(y2-y1)/12.0
ex=-dxdy
ey=d*dx
call plot(x1, yi, 3)
xx=x1+dx+ex
yy=yl+dy+ey
call plot(xx, yy, 2)
do 10 i=1, 5
xx=x1+(1*2+1) *dx+(-1) **ixex
yy=y1+(i*2+1) *dy+(-1) **ixey
call plot(xx, yy, 2)
continue
call plot(x2, y2, 2)
call stroke
call linety(1)
return
end
subroutine battery(xl,yl,x2,y2,d,w)
s=sqrt ((x2-x1) **x2+ (y2-y1) **2)
call linewidth (w)
dx=(x2-x1)/3.0
dy=(y2-y1)/3.0
ex=-dy
ey=dx
call plot(x1l, y1, 3)
xx=x1+dx
yy=yl+dy
call plot(xx, yy, 2)
call stroke
call linewidth(2.0*w)

xx=x1+dx+3.0%ex
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yy=yl+dy+3.0*ey
call plot(xx, yy, 3)
xx=x1+dx-3.0%ex
yy=yl+dy-3.0%ey
call plot(xx, yy, 2)
call stroke
xx=x1+2.0*dx+ex
yy=y1l+2.0*xdy+ey
call plot(xx, yy, 3)
xx=x1+2.0*dx-ex
yy=y1l+2.0*xdy-ey
call plot(xx, yy, 2)
call stroke
call linewidth(w)
call plot(x2, y2, 3)
xx=x2-dx
yy=y2-dy
call plot(xx, yy, 2)
call stroke
call linety(1)
return
end
subroutine coil(x1,y1,x2,y2,d,n,w)
s=sqrt ((x2-x1) **x2+ (y2-y1) **2)
call linewidth(w)
ex=(x2-x1)/s
ey=(y2-y1)/s
a=2.0
ds=(s-2.0%d)/(float (n)+0.5)
call plot(x1l, y1, 3)
do 10 i=1, 40%*n+20
t=2.0%3.14159*float (i)/40.0
xx=x1+((d-d*cos(t))+t/2.0/3.14159*ds) xex-a*d*sin(t) *xey
yy=y1+((d-d*cos(t))+t/2.0/3.14159*ds) *ey+a*xd*sin(t) *ex
call plot(xx, yy, 2)
continue
call stroke
call linety(1)
return
end
subroutine text(x,y,n,string)
character*80 string
call plot(x, y, 3)
write(1,*) ’(’,string(1:n),’) show’
call stroke
return

end
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subroutine textx(x,y,n,string)

characterx12 string

call plot(x, y, 3)

write(1,*) -n/2.0%9.0,-3.0/2.0%15.0, ’ rmoveto ’

write(1,*) ’(’,string(1:n),’) show’
return
end

subroutine texty(x,y,n,string)

characterx12 string

call plot(x, y, 3)

write(1,*) -(n+1)*9.0,-1.0/2.0%12.0, ’ rmoveto ’

write(1,*) ’(’,string(l:n),’) show’
return

end

subroutine setchar(ichar,ip)

if (ichar.eq.1) then

write(1,*) ’/Times-Roman findfont’,ip,’ scalefont setfont’
else if (ichar.eq.2) then

write(l,*) ’/Times-Bold findfont’,ip,’ scalefont setfont’
else if (ichar.eq.3) then

write(1,*) ’/Times-Italic findfont’,ip,’ scalefont setfont’
else if (ichar.eq.4) then

write(l,*) ’/Times-BoldItalic findfont’,ip,’ scalefont setfont’
else if (ichar.eq.5) then

write(1,*) ’/Helvetica findfont’,ip,’ scalefont setfont’
else if (ichar.eq.6) then

write(l,*) ’/Helvetica-Bold findfont’,ip,’ scalefont setfont’
else if (ichar.eq.7) then

write(1,*) ’/Helvetica-0Oblique findfont’,ip,’ scalefont setfont’
else if (ichar.eq.8) then

write(l,*) ’/Helvetica-BoldOblique findfont’,ip,

’ scalefont setfont’

else if (ichar.eq.9) then

write(l,*) ’/Courier findfont’,ip,’ scalefont setfont’

else if (ichar.eq.10) then

write(1,*) ’/Courier-Bold findfont’,ip,’ scalefont setfont’
else if (ichar.eq.11) then

write(l,*) ’/Courier-Oblique findfont’,ip,’ scalefont setfont’
else if (ichar.eq.12) then

write(1,*) ’/Courier-BoldOblique findfont’,ip,

> scalefont setfont’

else if (ichar.eq.13) then

write(1,*) ’/Symbol findfont’,ip,’ scalefont setfont’

end if

return

end
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B COO0O0O0OOO (psbasic.cpp)

0000000000000 ooooD’[ooyooooooo0oUooooooooo

#include "ps.h"

//papersize

double xsize, ysize;

//viewpoint

double xv1, yvl, xv2, yv2;

//world coordinate

double xwl, ywl, xw2, yw2;
FILE* stream;
// plotting routines for general purpose using postscript

void init(void)

{ stream = fopen("templ.ps", "w");

// aspect ratio of the paper is 1.4143
fprintf (stream, "%! Created by Jiro Mizushima \n");
fprintf(stream, "/Times-Roman findfont 18 scalefont setfont \n");
fprintf(stream, "/cm {28.35 mul} def \n");

xsize = 21.0;/* ysize = 29.7;*/ ysize = 21.0;
viewport (0.2, 0.2, 0.8, 0.8);

xyworld (0.0, 0.0, 1.0, 1.0);

linety(1); linewidth(1);

return;

void viewport(double xvid, double yvid, double xv2d, double yv2d)

{
xvl = xvid; yvl = yvid; xv2 = xv2d; yv2 = yv2d;

return;

void xyworld(double xwld, double ywld, double xw2d, double yw2d)

{
xwl = xwld; ywl = ywld; xw2 = xw2d; yw2 = yw2d;

return;

void fin(void)

{
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stroke(); fprintf(stream, "showpage\n"); fclose(stream);

return;

void linety(int ichar)
{
switch (ichar) {
case 1: fprintf(stream, "[] O setdash \n"); break;
2: fprintf(stream, "[2 2] 0 setdash \n");break;
case 3: fprintf(stream, "[8 2] 0 setdash \n");break;
4: fprintf(stream, "[8 1 1 1] O setdash \n");break;

case

case

}

return;

void linewidth(double w)
{

fprintf (stream, ")1f setlinewidth\n", w); return;

void setgray(double g)

{
fprintf (stream, ")1lf setgray\n", g); return;

void setrgb(double r,double g,double b)

{
fprintf (stream, ")1f %1f %1f setrgbcolor\n",r,g,b); return;

void newpath(void)

{

fprintf (stream, "newpath\n'"); return;

void closepath(void)

{

fprintf (stream, "closepath\n"); return;

void fill(void)
{

fprintf (stream, "fill\n"); return;

void stroke(void)

{
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fprintf (stream, "stroke\n");

void rotate(int itheta)

{
fprintf (stream, ")d rotate\n",itheta);

void scale(double tx, double ty)
{
fprintf (stream, ")1lf %1f scale\n",tx, ty);

void transrate(double x, double y)

{ double x1,y1;
x1 = ((x-xwl)/(xw2-xwl)*(xv2-xvl) + xVvl)*xsize;
y1 = ((y-ywl)/(yw2-ywl)*(yv2-yvl) + yvi)*ysize;
fprintf (stream, ")1f cm %1f cm translate\n", x1, y1);

void clipon(double x1, double yl, double x2, double y2)

{
newpath();
plot(x1l, y1, 3);plot(x2, y1, 2);plot(x2, y2,2); plot(xl, y2, 2);
closepath();
fprintf (stream, "clip\n");

void eoclipon(double x1, double y1, double x2, double y2)

{
newpath();
plot(x1l, yi, 3);plot(x2, y1, 2);plot(x2, y2,2); plot(xl, y2, 2);
closepath();

fprintf (stream, "eoclip\n");

void clipoff(void)
{
fprintf (stream, "clip\n");

void plot(double x, double y, int ipen)

{
double x1, yi;

x1
yi

((x-xwl)/ (xw2-xwl) *(xv2-xvl) + xVvl)*xsize;

((y-ywl)/ (yw2-ywl) * (yv2-yvl) + yvi)*ysize;
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switch (ipen) {
case 3: fprintf(stream, ")1f cm %1f cm moveto\n", x1,yl);
break;
case 2: fprintf(stream, "%1f cm %1f cm lineto\n", x1,yl);
break;

¥

return;

void line(double x, double y, double xx, double yy, double g, double w, int it)

{
double x1, y1, xx1, yyi;

x1

y1
xx1 = ((xx-xwl)/(xw2-xwl) *(xv2-xvl) + xvl)*xsize;

((x-xwl)/(xw2-xwl) * (xv2-xvl) + xVl)*xsizZe;

((y-ywl)/ (yw2-ywl) * (yv2-yvl) + yvl)*ysize;

yyl = ((yy-ywl)/(yu2-ywl) *(yv2-yvl) + yvl)*ysize;
linewidth(w) ;linety(it);setgray(g) ;

fprintf (stream, "%1lf cm %1f cm moveto\n", x1, yl);
fprintf (stream, ")1f cm %1f cm lineto\n", xx1, yyl);
stroke();

linety(1); linewidth(1);setgray(0.0);

return;

void linel(double x, double y, double xx, double yy)

{
double x1, y1, xx1, yyi;

x1 = ((x-xwl)/(xw2-xwl)*(xv2-xvl) + xVvl)*xsize;
y1l = ((y-ywl)/(yw2-ywl)*(yv2-yvl) + yvl)*ysize;
xxl = ((xx-xwl)/(xw2-xwl) *(xv2-xvl) + xvl)*xsize;
yyl = ((yy-ywl)/(yu2-yul) *(yv2-yvl) + yvl)*ysize;

fprintf (stream, "%1lf cm %1f cm moveto\n", x1, yl);
fprintf (stream, "%1f cm %1f cm lineto\n", xx1, yyl);
stroke();

return;

void rect(double x1, double y1, double x2, double y2, double g, double w, int it)
{

linewidth(w) ;linety(it);setgray(g) ;

newpath() ;plot(x1,y1,3);plot(x2,y1,2);plot(x2,y2,2);plot(x1,y2,2);

closepath();

if(g!=0.0) fprintf(stream, " £ill\n");

stroke();
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linety(1); linewidth(1);setgray(0.0);

return;

void rectl(double x1, double y1, double x2, double y2)

{
newpath() ;plot (x1,y1,3);plot(x2,y1,2);plot(x2,y2,2);plot(x1l,y2,2);
closepath();
stroke();

return;

void rectfilll(double x1, double yl1, double x2, double y2)
{
newpath() ;plot (x1,y1,3);plot(x2,y1,2);plot(x2,y2,2);plot(xl,y2,2);
closepath();
fprintf (stream, " £ill\n");
stroke();

return;

void circ(double x1, double yl1, double rl, double g, double w, int it)
{
double xx1,yyl,rri;

xxl = ((x1-xwl)/(xw2-xwl) *(xv2-xvl) + xvl)*xsize;
yyl = ((yl-ywl)/(yw2-ywl) *(yv2-yvl) + yvl)*ysize;
rrl = (ri1-xwl)/(xw2-xwl) *(xv2-xvl) *xsize;

linewidth(w) ;linety(it);setgray(g) ;

newpath();

fprintf (stream, "%1f cm %1f cm %1f cm 0 360 arc\n", xx1, yyl, rril);
if(g!=0.0) fprintf(stream, " £ill\n");

stroke();

linety(1); linewidth(1);setgray(0.0);

return;

void circl(double x1, double yl1, double ri)
{
double xx1,yyl,rri;

xxl = ((x1-xwl)/(xw2-xwl) *(xv2-xvl) + xvl)*xsize;
yyl = ((yl-ywl)/(yu2-ywl) *(yv2-yvl) + yvl)*ysize;
rrl = (ri1-xwl)/(xw2-xwl) *(xv2-xvl) *xsize;
newpath();

fprintf (stream, ")1f cm %1f cm %1f cm 0 360 arc\n", xx1, yyl, rri);
stroke();

return;
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void circfilll(double x1, double yl1, double ril)
{
double xx1,yyl,rri;

xx1

yyl
rril

((x1-xwl)/(xw2-xwl) *(xv2-xvl) + xvl)*xsize;

((y1-ywl)/(yw2-ywl) *(yv2-yvl) + yvi)*ysize;

(r1-xwl)/(xw2-xwl) * (xv2-xvl) *xsize;

newpath();

fprintf (stream, ")1f cm %1f cm %1f cm 0 360 arc\n", xx1, yyl, rri);
fprintf (stream, " £ill\n");

stroke();

return;

void ellipse(double x1, double yl1, double rx, double ry, double g, double w, int it)
{
double x, y, dt; int i;

linety(it); linewidth(w); setgray(g);

newpath();

x=x1+rx; y=yl; dt=3.14156%2.0/double(20) ;

plot(x,y,3);

for (i=1;i<=20;i++) {
x=x1+rx*cos(dt*i) ;y=yl+ry*sin(dt*i); plot(x,y,2);
}

if(g!=0.0) {fprintf(stream, "fill\n");?}

stroke();

linety(1); linewidth(1.0); setgray(0.0); return;

void ellipsel(double x1, double yl1, double rx, double ry)

{
double x, y, dt; int i;
newpath();
x=x1+rx; y=yl; dt=3.14156%2.0/double(20) ;
plot(x,y,3);
for (i=1;i<=20;i++) {
x=x1+rx*cos(dt*i) ;y=yl+ry*sin(dt*i); plot(x,y,2);
}
stroke();
}

void ellipsefilli(double x1, double yl1, double rx, double ry)
{
double x, y, dt; int i;
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newpath();

x=x1+rx; y=yl; dt=3.14156%2.0/double(20) ;

plot(x,y,3);

for (i=1;i<=20;i++) {
x=x1+rx*cos (dt*i) ;y=yl+ry*sin(dt*i); plot(x,y,2);
}

fprintf (stream, "fill\n");

stroke();

void arc(double x1, double yl1, double rl, double t1
[(0oail , double t2, double g, double w, int it)

double xx1,yyl,rri;

xx1=((x1-xwl)/ (xw2-xwl) * (xv2-xv1)+xvl) *xsize;
yyl=((y1-ywl) / (yw2-ywl) x (yv2-yvi) +yvl) *ysize;

rri=(rl1/ (xw2-xwl)*(xv2-xvl))*xsize;

linety(it); linewidth(w); setgray(g);

newpath();

fprintf (stream,")1f cm %1f cm %1f cm %1f %1f arc \n",xx1l,yyl,rrl,t1,t2);
stroke(); linety(1l); linewidth(1.0); setgray(0.0);

return;

void arcl(double x1, double y1, double rl, double t1, double t2)
{
double xx1,yyl,rri;

xx1=((x1-xwl)/ (xw2-xwl) * (xv2-xv1)+xv1l) *xsize;
yyl=((y1-ywl) / (yw2-ywl) * (yv2-yv1) +yvl) *ysize;

rri=(rl/ (xw2-xwl)*(xv2-xvl))*xsize;

newpath();

fprintf (stream,"%1f cm %1f cm %1f cm %1f %1f arc \n",xxl,yyl,rrl,tl,t2);

return;

void curv(double x1, double y1, double x2, double y2, double x3, double y3
[0oo1l , double x4, double y4, double g, double w, int it)

double xx2,yy2,xx3,yy3,xx4,yy4;

xx2=((x2-xwl) / (xw2-xwl) * (xv2-xv1) +xvl) *xsize;
yy2=((y2-ywl) / (yw2-ywl) * (yv2-yvi) +yvl) xysize;
xx3=((x3-xwl) / (xw2-xwl) * (xv2-xv1)+xvl) *xsize;
yy3=((y3-ywl) / (yw2-ywl) * (yv2-yv1) +yvl) *ysize;

xx4=((x4-xwl) / (xw2-xwl) * (xv2-xv1)+xvl) *xsize;
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yy4=((y4-ywl) / (yw2-ywl) * (yv2-yvl) +yvl) *ysize;
linety(it); linewidth(w); setgray(g);
newpath(); plot(x1,y1,3);
fprintf(stream, "%1f cm %1f cm %1f cm %1f cm %1f cm %1f cm
[0oo1l curveto\n", xx2 ,yy2,xx3,yy3,xx4,yy4);
stroke();
linety(1);linewidth(1.0); setgray(0.0);

return;

void curvl(double x1, double yl1, double x2, double y2
[(0oail , double x3, double y3, double x4, double y4)

double xx2,yy2,xx3,yy3,xx4,yy4;

xx2=((x2-xwl) / (xw2-xwl) * (xv2-xv1) +xvl) *xsize;

yy2=((y2-ywl) / (yw2-ywl) * (yv2-yvi) +yvl) xysize;

xx3=((x3-xwl)/ (xw2-xwl) * (xv2-xvl) +xv1) *xs5izZe;

yy3=((y3-ywl) / (yw2-ywl) * (yv2-yv1) +yvl) *ysize;

xx4=((x4-xwl) / (xw2-xwl) * (xv2-xv1)+xvl) *xsize;

yy4=((y4-ywl) / (yu2-ywl) * (yv2-yvi) +yvl) xysize;

newpath(); plot(x1l,y1,3);

fprintf(stream, "%1f cm %1f cm %1f cm %1f cm %1f cm %1f cm
[0oo1l curveto\n", xx2 ,yy2,xx3,yy3,xx4,yy4);

stroke();

return;

void triangl(double x1, double y1, double ril, double al

[(0oail , double g, double w, int it)
{
double aal,aa2;
aal=al%3.14159/180.0;
aa2=aal+3.14159/3.0;
linety(it); linewidth(w); setgray(g);
newpath(); plot(x1l,y1,3); plot(xl+ri*cos(aal), yl+ri*sin(aal), 2);
plot(xl+rixcos(aa2), yl+ri*sin(aa2), 2);
closepath();
if(g!=0.0) {fprintf(stream, "fill\n");}
stroke();
linety(1); linewidth(1.0); setgray(0.0);
return;
}

void triangll(double x1, double yl1, double rl, double al)
{
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double aal,aa2;

aal=al*3.14159/180.0;

aa2=aal+3.14159/3.0;

newpath(); plot(x1,y1,3); plot(xl+rixcos(aal), yl+rixsin(aal), 2);
plot(xl+rixcos(aa2), yl+ri*sin(aa2), 2);

closepath();

stroke();

return;

void trianglfillil(double x1, double yl, double rl, double al)
{

double aal,aa2;

aal=al%3.14159/180.0;

aa2=aal+3.14159/3.0;

newpath(); plot(x1,y1,3); plot(xl+rixcos(aal), yl+rixsin(aal), 2);
plot(xl+rixcos(aa2), yl+ri*sin(aa2), 2);

closepath();

fprintf (stream, "fill\n");

stroke();

return;

void spline(double x1, double yl1, double x2, double y2, double x3, double y3,
[0oo1l double x4, double y4, int ipart, double g, double w)

{ int ns=10,i; double u,x,y;

linewidth(w); setgray(g);
newpath();
u=double(ipart) ;
x=—u*(u-1.)*(u-2.)/6.*x1+(u+l.)*(u-1.)*(u-2.)/2.%x2
[0oo1l —(utl.)*ux(u-2.) /2. *%x3+(u+1.)*xux(u-1.)/6.*x4;
y=—ux(u-1.)*(u-2.)/6.xyl+(u+l.)*(u-1.)*(u-2.)/2.*%y2-(u+l.) *xux(u-2.)/2.*y3
(0ool +(ut+l.)*ux(u-1.)/6.*y4;
plot(x,y,3);
for (i=1;i<=ns;i++){
u=double(ipart)+double(i)/double(ns);
x=-uw*(u-1.)*(u-2.)/6.*x1+(u+l.)*(u-1.)*(u-2.)/2.%x2

[(0oail —(u+l.)*ux(u-2.)/2.%x3+(u+l.)*ux(u-1.)/6.*x4;
y=—ux(u-1.)*(u-2.)/6.xyl+(u+1.)*(u-1.)*(u-2.)/2.*y2

(0ool —(u+1.)*u*x(u-2.)/2.%y3+(u+l.)*u*x(u-1.)/6.*y4;
plot(x,y,2);
}
stroke();
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linewidth(1.0); setgray(0.0);

return;

void splinel(double x1, double y1, double x2, double y2, double x3, double y3,
(0ool double x4, double y4, int ipart)

{ int ns=10,i; double u,x,y;

newpath();
u=double(ipart) ;
x=-ux(u-1.)*(u-2.)/6.*%x1+(u+l.)*(u-1.)*(u-2.)/2.*x2

[(0oail —(u+l.)*ux(u-2.)/2.%x3+(u+l.)*ux(u-1.)/6.*x4;
y=—ux(u-1.)*(u-2.)/6.xyl+(u+l.)*(u-1.)*(u-2.)/2.*y2
(0ool —(u+1.)*u*x(u-2.)/2.%y3+(u+l.) *u*x(u-1.)/6.*y4;

plot(x,y,3);

for (i=1;i<=ns;i++){
u=double(ipart)+double(i)/double(ns);
x=-ux(u-1.)*(u-2.)/6.*x1+(u+1.)*(u-1.)*(u-2.)/2.*x2

[(0oail —(u+l.)*ux(u-2.)/2.%x3+(u+l.)*ux(u-1.)/6.*x4;
y=—ux(u-1.)*(u-2.)/6.xyl+(u+l.)*(u-1.)*(u-2.)/2.*y2
(0ool —(u+1.)*u*x(u-2.)/2.%y3+(u+l.)*u*x(u-1.)/6.*y4;
plot(x,y,2);
}
stroke();
return;

void parabola(double x1, double y1, double x2, double y2, double x3, double y3,
[0oo1l double g, double w, int it)

double u,x,y; int i,ns=20; u=0.0;

linewidth(w); setgray(g); linety(it);

newpath();
x=(u-1.)*(u-2.)/2.*x1-u*x(u-2.)*x2+u*x(u-1.) /2. *x3;
y=(u-1.)*(u-2.)/2.*xyl-u*(u-2.) *y2+ux(u-1.) /2. *y3;
plot(x,y,3);

for (i=1; i<=2*ns; i++)

{ u=double(i)/double(ns);
x=(u-1.)*(u-2.)/2.*x1-u*(u-2.)*x2+u*x(u-1.)/2.*x3;
y=(u-1.)*(u-2.)/2.*yl-u*(u-2.) *y2+ux(u-1.) /2. *y3;
plot(x,y,2);

} stroke();
linewidth(1.0); setgray(0.0); linety(1);

return;

void parabolal(double x1, double yl, double x2, double y2, double x3, double y3)
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double u,x,y; int i,ns=20; u=0.0;

newpath();
x=(u-1.)*(u-2.)/2.*x1-u*x(u-2.)*x2+u*x(u-1.) /2. *x3;
y=(u-1.)*(u-2.)/2.xyl-u*(u-2.) *y2+ux(u-1.) /2. *y3;
plot(x,y,3);

for (i=1; i<=2*ns; i++)

{ u=double(i)/double(ns);
x=(u-1.)*(u-2.)/2.*x1-u*x(u-2.)*x2+u*x(u-1.)/2.*x3;
y=(u-1.)*(u-2.)/2.*yl-u*(u-2.) *y2+ux(u-1.) /2. *y3;
plot(x,y,2);

} stroke();

return;

void arrow(double x1, double yl1, double x2, double y2,
[0oo1l double d, double g, double w)

double alpha=2.2,s,x3,y3,x4,y4;

s=sqrt ((x2-x1) *(x2-x1)+(y2-y1) *(y2-y1));

x3=x2-(x2-x1) /s*d*alpha-(y2-y1)/s*d;

y3=y2-(y2-y1) /s*d*alpha+(x2-x1)/s*d;

x4=x2-(x2-x1) /s*d*alpha+(y2-y1)/s*d;

y4=y2-(y2-y1) /s*d*alpha-(x2-x1)/s*d;

linewidth(w); setgray(g);

plot(x1l, y1, 3); plot(x2, y2, 2);

plot(x2, y2, 3); plot(x3, y3, 2); plot(x2, y2, 3); plot(x4, y4, 2);
stroke(); linety(1); linewidth(1.0); setgray(0.0);

return;

void arrowl(double x1, double yl1, double x2, double y2, double d)
{

double alpha=2.2,s,x3,y3,x4,y4;

s=sqrt ((x2-x1) * (x2-x1)+(y2-y1) *(y2-y1)) ;

x3=x2-(x2-x1) /s*d*alpha-(y2-y1)/s*d;

y3=y2-(y2-y1) /s*d*alpha+(x2-x1)/s*d;

x4=x2-(x2-x1) /s*d*alpha+(y2-y1)/s*d;

y4=y2-(y2-y1) /s*d*alpha-(x2-x1)/s*d;

plot(x1l, y1, 3); plot(x2, y2, 2);

plot(x2, y2, 3); plot(x3, y3, 2); plot(x2, y2, 3); plot(x4, y4, 2);

stroke();

return;

void resist(double x1, double yl1, double x2, double y2, double d, double w)
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double s, dx, dy, ex, ey, xx, yy;int i;

s=sqrt ((x2-x1) * (x2-x1) +(y2-y1) *(y2-y1)) ;
linewidth(w) ;
dx=(x2-x1)/12.0; dy=(y2-y1)/12.0;
ex=-dxdy; ey=d*dx;

plot(xl, y1, 3); xx=xl+dx+ex; yy=yl+dy+ey; plot(xx, yy, 2);
for(i=1;i<=5; i++){

xx=x1+(i*2+1) *dx+pow(-1,1i) *ex; yy=yl+(i*2+1)*dy+pow(-1,1)*ey;

plot(xx, yy, 2);

}
plot(x2, y2, 2);
stroke(); linety(1); linewidth(1.0);

return;

void battery(double x1, double yi1, double x2, double y2, double d, double w)
{
double s,dx,dy,ex,ey,xx,yy;

s=sqrt ((x2-x1) * (x2-x1) +(y2-y1) *(y2-y1) ) ;
linewidth(w) ;

dx=(x2-x1)/3.0; dy=(y2-y1)/3.0;

ex=-dy; ey=dx;

plot(x1l, y1, 3); xx=x1+dx; yy=yl+dy; plot(xx, yy, 2); stroke();
linewidth(2.0%w) ;

xx=x1+dx+3.0%ex; yy=yl+dy+3.0*ey;

plot(xx, yy, 3); xx=x1+dx-3.0%ex; yy=yl+dy-3.0%*ey; plot(xx, yy, 2); stroke();
xx=x1+2.0*dx+ex; yy=yl+2.0*dy+ey;

plot(xx, yy, 3); xx=x1+2.0*dx-ex; yy=yl+2.0*dy-ey; plot(xx, yy, 2); stroke();
linewidth(w) ;

plot(x2, y2, 3); xx=x2-dx; yy=y2-dy; plot(xx, yy, 2); stroke();
linewidth(1.0); linety(1);

return;

void coil(double x1, double y1, double x2, double y2, double d, int n, double w)
{

double s,ex,ey,ds,a,xx,yy,t;int i;

s=sqrt ((x2-x1) *(x2-x1)+(y2-y1) *(y2-y1));

linewidth(w) ;

ex=(x2-x1)/s; ey=(y2-y1)/s;

a=2.0; ds=(s-2.0%*d)/(double(n)+0.5);
plot(xl, y1, 3);
for(i=1;i<=40%n+20;i++) {
t=2.0%3.14159*%double (i) /40.0;
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xx=x1+((d-d*cos(t))+t/2.0/3.14159%ds) *ex-axd*sin(t) *xey;
yy=y1+((d-d*cos(t))+t/2.0/3.14159*ds) xey+a*d*sin(t) *ex;
plot(xx, yy, 2);
} stroke();

linewidth(1.0);linety(1);

return;

void text(double x, double y, int n, char* stril)

{
double x1, y1;

x1
yi

((x-xwl)/(xw2-xwl) * (xv2-xvl) + xVl)*xsizZe;

((y-ywl)/ (yw2-ywl) * (yv2-yvl) + yvi)*ysize;
fprintf(stream, ")1lf cm %1f cm moveto\n", x1, y1);
fprintf (stream, "(%s) show\n", strl);

return;

void textx(double x, double y, int n, char* stril)

{
plot(x, y, 3);
fprintf (stream, "%1f %1f rmoveto\n", -n/2.0%9.0,-3.0/2.0%15.0);
fprintf (stream, "(%s) show\n", stril);
return;
}

void texty(double x, double y, int n, char* stril)

{
plot(x, y, 3);
fprintf (stream, ")1f %1f rmoveto\n", -(n+1)*9.0,-1.0/2.0%12.0);
fprintf (stream, "(%s) show\n", stril);
return;
}

void setchar(int ichar, int ip)
{
switch (ichar) {
case 1:fprintf(stream, "/Times-Roman findfont %d scalefont setfont \n",ip);
break;
case 2:fprintf(stream, "/Times-Bold findfont %d scalefont setfont \n",ip);
break;
case 3:fprintf(stream, "/Times-Italic findfont %d scalefont setfont \n'",ip);
break;
case 4:fprintf (stream, "/Times-BoldItalic findfont J%d scalefont setfont \n",ip);
break;

case 5:fprintf(stream, "/Helvetica findfont %d scalefont setfont \n",ip);
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break;

case 6:fprintf(stream, "/Helvetica-Bold findfont %d scalefont setfont \n",ip);
break;

case 7:fprintf(stream, "/Helvetica-Oblique findfont %d scalefont setfont \n",ip);
break;

case 8:fprintf(stream, "/Helvetica-BoldOblique findfont %d scalefont setfont \n",ip);
break;

case 9:fprintf(stream, "/Courier findfont %d scalefont setfont \n",ip);
break;

case 10:fprintf(stream, "/Courier-Bold findfont J%d scalefont setfont \n'",ip);
break;

case 11:fprintf(stream, "/Courier-Oblique findfont J%d scalefont setfont \n",ip);
break;

case 12:fprintf(stream, "/Courier-BoldOblique findfont J%d scalefont setfont \n",ip);
break;

case 13:fprintf(stream, "/Symbol findfont %d scalefont setfont \n",ip);
break;

}

return;

void square(double x, double y)

{
double x1, y1, delta;
x1 = ((x-xwl)/(xw2-xwl)*(xv2-xvl) + xVvl)*xsize;
y1l = ((y-ywl)/(yw2-ywl)*(yv2-yvl) + yvl)*ysize;
delta = 0.1;
fprintf (stream, ")1f cm %1f cm moveto\n", xl-delta,yl-delta);
fprintf (stream, "%1lf cm %1f cm lineto\n", xl+delta,yl-delta);
fprintf (stream, "%1f cm %1f cm moveto\n", xl+delta,yl+delta);
fprintf (stream, "%1f cm %1f cm lineto\n", xl-delta,yl+delta);
closepath() ;stroke();
return;

}
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C 0Doooooo1l

C.1 Fortran(figl.for)

C Plotting program for general purpose using postscript
call init
call readdata
call viewport(0.2,0.2,0.8,0.8)
call xyworld(0.0,0.0,1.0,1.0)
call frame
call plotd
call fin
stop
end
subroutine readdata
common /maxmin/xmax,xmin,ymax,ymin,n
common /dataxy/x1(100),y1(100)
open (2,file=’pg.data’,status=’0LD’)
do 10 i=1,100
read(2,*,end=99) x1(i),y1(i)
10 continue
99 continue
n=i-1
xmax=x1(1)
xmin=x1(1)
ymax=y1(1)
ymin=y1(1)
do 20 i=2,n
if (xmax.1t.x1(i)) xmax=x1(i)
if (xmin.gt.x1(i)) xmin=x1(i)
if (ymax.1lt.y1(i)) ymax=y1(i)
if (ymin.gt.y1(i)) ymin=y1(i)
20 continue
return
end
subroutine plotd
common /maxmin/xmax,xmin,ymax,ymin,n
common /dataxy/x1(100),y1(100)
call linewidth(1.5)
call linety(1)
do 20 i=1,n
x1(i)=(x1(i)-xmin)/ (xmax-xmin)
y1(1)=(y1(i)-ymin)/ (ymax-ymin)
20 continue
call plot(x1(1),y1(1),3)
do 30 i=2,n
call plot(x1(i),y1(i),2)

30 continue
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call stroke()
call plot(0.9,-0.06,3)
write(1,100) xmax
call plot(0.4,-0.06,3)
write(1,100) (xmax+xmin)/2.0
call plot(-0.1,-0.06,3)
write(1,100) xmin
call plot(-0.2,0.98,3)
write(1,100) ymax
call plot(-0.2,0.48,3)
write(1,100) (ymax+ymin)/2.0
call plot(-0.2,-0.02,3)
write(1,100) ymin
100 format(1x,’(’,1pe8.1,’) show’)
continue
return
end
subroutine frame
common /maxmin/xmax,xmin,ymax,ymin,n
common /dataxy/x1(100),y1(100)
call linewidth(1.0)
call rect(0.0,0.0,1.0,1.0,0.0,1.0,1)
call textx(0.75,0.0,1,’x’)
nx=2
do 10 ix=1,nx-1
x=float(ix)/float (nx)
dy=0.03
call plot(x,0.0,3)
call plot(x,dy,2)
call stroke()
10 continue
call texty(0.0,0.75,1,’y?)
ny=2
do 20 iy=1,ny-1
y=float (iy)/float (ny)
dx=0.03
call plot(0.0,y,3)
call plot(dx,y,2)
call stroke()
20 continue
return

end



C.2 C(figl.cpp)

#include <stdio.h>
#include <stdlib.h>
#include <string.h>
#include <math.h>

#include "ps.h"

int readdata(double*,double*,double*,double*) ;
void frame(int,double*,double*,double*,doublex*) ;

void plotd(int,double*,double*,double*,doublex);

void main()

{
int n;
double xymax[2],xymin[2],x1[100],y1[100];
init();
n=readdata(x1,yl,xymax,xymin) ;
viewport(0.2,0.2,0.8,0.8); xyworld(0.0,0.0,1.0,1.0);
frame(n,x1,yl,xymax,xymin) ;
plotd(n,x1,yl,xymax,xymin) ;
fin();

int readdata(double x1[], double y1[], double xymax[], double xymin[])
{
FILE* stream;int i;char sx[10],sy[10];
stream=fopen("pg.data","r");
int n=0;
while(!feof (stream)) {
fscanf (stream, "%s%s",sx,sy);
x1[n]=(double)atof (sx) ;yl[n]=(double)atof (sy) ;n++;
}

n-—;

xymax [0]=x1[0] ; xymax[1]=y1[0];
xymin[0]=x1[0] ; xymin[1]=y1[0];
for(i=1;i<n;i++) {
if (xymax [0]1<x1[i]) xymax[0]=x1[i];
if (xymin[0]>x1[i]) xymin[0]=x1[i];
if (xymax[11<y1[i]) xymax[1]=y1[i];
if (xymin[11>y1[il) xymin[1]l=y1[i]l;
}
fclose(stream) ;
return (n);
}
void plotd(int n,double x1[], double yi[], double xymax[], double xymin[])
{
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int i;char s[10];

linewidth(1.5);linety(1);

for(i=0;i<n;i++) {
x1[i]=(x1[i]-xymin[0])/ (xymax [0] -xymin[0]) ;
y1[il=(y1[i]-xymin[1])/ (xymax [1]-xymin[1]);
}

plot(x1[0],y1[0]1,3);

for(i=1;i<n;i++){ plot(x1[il,y1[il,2); } stroke();

_gevt (xymax[0],5,s) ;text(0.95,-0.06,5,s);
_gcevt ((xymax [0]+xymin[0]) /2.0,5,s) ;text (0.45,-0.06,5,s) ;
_gevt (xymin[0],5,s) ;text(-0.05,-0.06,5,s);
_gevt (xymax[1],5,s) ;text(-0.1,0.98,5,s);
_gevt ((xymax [1]+xymin[1])/2.0,5,s) ;text(-0.1,0.48,5,s);
_gevt(xymin([1],5,s) ;text(-0.1,-0.02,5,s);
}
void frame(int n, double x1[], double y1[], double xymax[], double xymin[])
{

int nx=2,ny=2,ix,iy;double x,dx=0.03,y,dy=0.03;
linewidth(1.0) ;rect(0.0,0.0,1.0,1.0,0.0,1.0,1);
textx(0.75,0.0,1,"x");
for(ix=1;ix<nx;ix++) {
x=((double)ix)/((double)nx) ;

plot(x,0.0,3); plot(x,dy,2);stroke();

}
texty(0.0,0.75,1,"y");
for(iy=1;iy<ny;iy++) {
y=((double)iy)/((double)ny) ;
plot(0.0,y,3);plot(dx,y,2) ;stroke();

}
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C.3

0000000 (ps.h)

#include <stdio.h>
#include <stdlib.h>

#include <string.h>
#include <math.h>
#define PI 3.141592653585793

void
void
void
void
void
void
void
void
void
void
void
void
void
void
void
void
void
void
void
void
void
void
void
void
void
void
void
void
void
void
void
void
void
void
void
void
void
void
void

void

init(void);

viewport(double, double, double, double);

xyworld(double, double, double, double);

fin(void);

linety(int);

linewidth(double);

setgray(double) ;

setrgb(double, double, double);

newpath(void);

£ill(void);

closepath(void);

stroke(void) ;

rotate(int);

scale(double, double);

transrate(double, double);

clipon(double, double, double, double);

eoclipon(double, double, double, double);

clipoff (void);

plot(double, double, int);

line(double, double, double, double, double, double, int);

linel(double, double, double, double);

rect (double, double, double, double, double, double, int);

rectl(double, double, double, double);

rectfilll(double, double, double, double);

circ(double, double, double, double, double, int);

circl(double, double, double);

circfilli(double, double, double);

ellipse(double, double, double, double, double, double, int);
ellipsel(double, double, double, double);

ellipsefilli(double, double, double, double);

arc(double, double, double, double, double, double, double, int);
arcl(double, double, double, double, double);

curv(double, double, double, double, double, double, double, double, double, double, int);
curvl(double, double, double, double, double, double, double, double);
triangl(double, double, double, double, double, double, int);
triangll(double, double, double, double);

trianglfilll(double, double, double, double);

spline(double, double, double, double, double, double, double, double, int, double, double);
splinel(double, double, double, double, double, double, double, double, int);
parabola(double, double, double, double, double, double, double, double, int);
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void parabolal(double, double, double, double, double, double);
void arrow(double, double, double, double, double, double, double);
void arrowl(double, double, double, double, double);

void resist(double, double, double, double, double, double);

void battery(double, double, double, double, double, double);

void coil(double, double, double, double, double, int, double);
void text(double, double, int, char* );

void textx(double, double, int, char* );

void texty(double, double, int, char* );

void setchar(int, int);

void square(double, double);
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